CX2/CXWM/CXWL series

Slide Bearing/CX2:¢10, 215, 25 CXWM:210, 216, 520, 625, 232
Ball Bushing Bearing/CXWL:210, 216, 920, 525, 332

Provided with shock absorbers
to absorb impact and noise.

The slide unit can absorb energy in a wide range, in high
speed, low-load applications to low speed, high-load
applications, without requiring adjustments.

Ensures high positional
accuracy.

A high level of positional accuracy can be attained
because the two parallel piston rods prevent the rods
from rotating, and the workpiece mounting surface and
the parallelism of the piston rods are made highly precise.

I Auto switches can be installed.
I Smooth operation and high thrust.

Series Variations

Mountable on the housing or on the plate.
The slide unit can be mounted on the housing or on the plate,
depending on the application. It can also be bolted from the bottom
or from the top. The piping can be fitted to the port in any of the three

positions, according to how the unit is mounted.

<Fixing the plate> The housing moves. H’
Housing Plate

Y i I |

Mounting from the bottom side Mohming from the upper side

<Fixing the housing> The plate moves. tg

Mounting from the bottom side Mounting from the upper side

Auto
Bearing Bore Stroke (mm Accessory |switch| | Page
type it size b Y mounting g
25 50 75 100 125 150 175 200
CX20 Series (1)
10
Double rod type
(Basic type, compact)
= 215 872
A N
2 ( 025
&
o
® CXWM s
q p - eries 2
S 1
SlldsiunlE % | |Built-in shock o10
absorber type 216 2
L L > 3
_ 5 220 881
I---I = iz e
£ ;,. i 025 L@
=~ 032 [ 9
> CXWL series 210
£ Built-in shock
§ absorber type 016
@ = 220 907
=l »
G 025
2 .
= ) .
= b 032 )
o

Note 1) Only type E (Reed switch) is applicable as an auto switch when mounting a housing of a10.
Note 2) The shock absorbers are to be mounted on the both sides for the 25 stroke of the CXWM10 to 25 series.
Note 3) The shock absorber is to be mounted on one side of the plate for the 25 stroke of the CXWM20,

CXWMB32, CXWL32 series and the 50 stroke of the CXWM32 series.

869



CX2/CXWM/CXWL series
Prior to Use

\Maximum Allowable Moment: CX2N, CXWM, CXWL

Operate within the operating range and under the allowable moment indicated in the table below.

CX2N
CXWM (Slide bearing)
- - - CXWL (Ball bushing bearing)

20

M M,
— —
|32
10 2 [=F =] 06
—= = }‘a 7 {777
_ 5 | - L - = = 120
€ = = Z 2
z _A - P 116
< -~ 1A 15
g 3 = = 2 M,
g _ = / / ] s
g 2 = | L
é’ ==  E———
0 e = ==
s 1 7 7
°
K ~1]10
2 |
2 05 4
< o4 =
g
0.3
Allowable Moment (M2) (N-m)
02 Bore size (mm) 10 15 16 20 25 32
CX2N 0.098 0.294 — — 1.029 —
0.1 —
o oo e e e 200 CXWM 0.108 0549 | 0.809 | 1.029 | 2.695
CXWL 0.108 — 0549 | 0.809 | 1.201 2.695

Cylinder stroke (mm)

Note) Mz is steady regardless of the strokes.

[Allowable Kinetic Energy

Load mass and cylinder speed should be observed within the range given in the graph below.
To adjust the cylinder speed, use a speed controller.

30

20

A} AN I
\\ \\\\ 1T
5 r CXWL25 ||
< CX2N25 Q CXaN25-+B, CXWN25
CXW20
§ 5 U L
3 - \ s
o
s, CX2N15 CX2N15-+B
» \ \
CX2N10-+B
CX2N10 CXWO1
1
0.5
10 50 100 200 300 500 1000

Cylinder speed (mm/s)

870




CX2 series
Prior to Use

1. Changing from the non-auto switch specifications to the auto switch specifications
2. Changing mounting type of the auto switch specifications

CX2 Series

1. In the CX2 series, to change from the specification without auto switch to the plate mounting
type with auto switch or to the housing mounting type with auto switch, refer to tables (1) and (2)
before ordering.

Without auto switch: CX2 N I:I - I:I

Plate mounting type
with auto switch: C DPX2N I:I S - I:I ....... Table (1)
CDBX2N[_JM-[_]---Table (2)

Housing mounting type
with auto switch:

2. In the CX2 series, to change from the plate mounting type with an auto switch to the housing
mounting type with an auto switch or vice versa, refer to tables (1) and (2) before ordering.

Plate mounting type

with auto switch: CDPXZNDS—D

Table (1)

Housing mounting type
with auto switch:

CDBX2N[_IM-["]--Table (2)

Table (1) Plate Mounting Type with Auto Switch (CDPX2NOO-1)
Component Parts for Mounting Switches and No. of Component Parts

510 | 15 | o025
. Assembly model no. for mounting switch
Component parts Material CDPX2N CDPX2N CDPX2N
10s-[] 15S-01] 2558-]
Switch mounting block | Aluminum alloy 1 1 1
Block mounting screw | Chrome steel/Zinc 2 2 2
Switch mounting screw | Chrome steel/Zinc 2 2 2
Hexagon nut Carbon steel/Zinc chromated 2 2 2
Magnet — 1(2)? —_— e
Socket Carbon steel/Electroless nickel plated 2 —
Plug Carbon steel/Nickel plated 2 2 —

Note 1) “00" mark indicates strokes.

Note 2) In the case of 10, the 25 mm stroke has two magnets that are bonded in the holes on
the side of the housing. Those with strokes of 50 mm to 100 mm have one magnet.
Those with other bore sizes have a built-in magnet in their housings.

Table (2) Housing Mounting Type with Auto Switch (CDBX2NOO-0J)
Component Parts for Mounting Switches and No. of Component Parts

610 | 15 | 025
Component parts Material Assembly model no. for mounting switch
CDBX2N CDBX2N CDBX2N
10M-0 15M-] 25M-]
Magnet mounting block assembly | Aluminum alloy 1 1 1
Switch mounting rail Aluminum alloy — 1 1
Spacer Aluminum alloy/Anodized 2 — —
Block mounting screw | Chrome steel/Zinc chromated 2 2 2
Screw for mounting rail | Chrome steel/Zinc — 2 2
Switch mounting screw | Chrome steel/Zinc chromated 2 2 2
Hexagon nut Carbon steel/Zinc chromated 2 2 2
Hexagon socket head plug | Chrome steel/Zinc 2 2 —

Note 1) “00” mark indicates strokes.
Note 2) For 10, CX2N10-0I can be changed to CDBX2N10-0J, but note that CDPX2N1000
cannot be changed to CDBX2N10-[J.

871




Slide Unit/Double Rod Type

CX2 series

Slide Bearing: 210, 215, 925

How to Order

Port thread type
Symbol Type Bore size
Nil Mthread | 210, 615
" [Ros
TN | NPT 1/8 025
G1/8

TF
cxe/NIi5[ J-{fo0[]-[|
| —
 with auto switcn [ =10 1 [ IR T 1 20

Cylinder with auto switch Made to Order
Symbol | Specifications/Mounting + Refer to page 873 for Made

With auto switch/ . to Order specifications.
bB IAuto switch

Housing mounting Number of auto switches

With auto switch/ ‘ Nil ‘ V\:"‘ﬁt“‘ :‘r‘r‘]‘;gs:ve't‘;” ‘ Nil 2 ps.
DP Plate mounting S 1pc.
* For the applicable auto switch n “n” pes.

Type & model, refer to the table below.

Bore size/Stroke (mm)
N Non-lube type
210 | 25,50, 75, 100 Shock Absorbers

Air-hydro type -
H | (Exceptoi0) 215 | 25,50, 75, 100, 125, 150, 175, 200 Type 150;555'19 (mzms)
y
2 ﬂ2155 1125’220' 35;(100' 1'25’3350’ 175, ’2|O:,)| Standard (shock absorber RB series) RB0805 | RB1006
a;"nf’ade_?;‘_orer'(fxgﬂ f)s up to 300 are avallable Shock absorber soft type RJ series type (-:XB22) | RJO806H | RJ1007H
Cushion (Option) « The shock absorber service lfe is different from that of the CX2 cylinder.
Nil With adjusting bolt (2 pcs.) Refer to “Specific zroduct Precautions” for each shock absorber for the
period.
B | With shock absorber (2 pcs.) * The shock absorber soft type RJ series type (-XB22) is a made to order
BS | With shock absorber (1 pc.) specification. For details, refer to page 1468.
Applicable Auto Switches/Refer to pages 1289 to 1383 for further information on auto switches.
° ) =3 Wiri Load voltage Rail mounting Applicable cylinder size | Lead wire length (m) o ol pepess
S|  Special function Electrical | 5 iy " ; Housing | Plate [ 0.5 | 3 | 5 |None oo hReCERe
= g
= entry E (Output) DC AC  |Perpendicular | In-line mounting |mounting| (Nil) | (L) | 2) | (N) connector load
£ 3-wire (NPN) sy 12y F7NV | F79 ® ®O/—| O Ic
= _ Grommet 3-wire (PNP) ! F7PV_| F7P @ |@[O]|—| O |cireui
2 2-wire 12V F7BV | J79 10 | @ @O — ®) _
E Connector " J79C — 015 [ BK 3K K ) Rela
2| Diagnostic indication & |3-wire (NPN)| 24 V sv 12v] T F7NWV | F79W 25 015 | @ @O | — O c PLCVY
S ¥ ’ — [} — circuit
@|  (2-color indicator) S-wire (PNP) B2 025 ® 00 o
z Grommet -wire 12V F7BWV | J79W ® 0O —| O _
& | Water resistant (2-colorindicator) F7BAV** | FTBA** — | @O — ©)
With dagnostc output (2ol indcator] 4-wire (NPN) 5V, 12V — F79F ® |0 O — O |IC circuit
3-wire — 5V — — A76H o o | — — |ICaircuit| —
- 8 — | — T200v | A72 [A72H °10 [@ [@
S Grommet | > 015 —
£ 12V | 100V | A73 | A73H 015 | @ @ @ — | —
g 2| 2wire |, |5V.12V}i0Vorlssy AB0 | ABOH | ;o5 ® |® || — |Cciu
= — Connector 8 12V — A73C — 025 @ 0|0 | — — | Relay,
s 2 5V,12V[2%4Vorlessy ABOC | — o 0o/0o/0| — ic |PLC
8 g| 3wre | — [ sv — — |E76A ® @ || — |ciou
Grommet | > |, .o o4y |12V | 100V — E73A | 010 — o0 | - -
2 5V, 12 V[100Vorless] — E80A [ BK ] IC circuit

= \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Consult with SMC regarding water resistant types with the above model numbers.
= Lead wire length symbols: 0.5 m - Nil  (Example) F79W * Solid state auto switches marked with “O” are produced upon receipt of order.
3

m- L  (Example) F79WL
5m- Z (Example) F79WZ
None - N  (Example) J79CN

+ Refer to pages 1358 and 1359 for details of auto switches with a pre-wired connector.
+ Auto switches are shipped together (not assembled).

872



Symbol

Without cushion

Made to| . -
order | Made to Order: Individual Specifications

(For details, refer to pages 927 to 929.)

Symbol

Specifications

-X138

Adjustable stroke

-X146

Hollow piston rod

-X168

CX helical insert thread

-X169

2 built-in magnets

Made

Click here for details

to Order Specifications

Slide Unit/Double Rod Type CX2 series

Seecifications

Type Non-lube [ Air-hydro type

Fluid Air \ Hydraulic fluid
Proof pressure 1.5 MPa
Max. operating pressure 1.0 MPa

CX2N10 0.15 MPa [ —
Min. p CX2015 0.15 MPa

CX2025 0.10 MPa
Ambient and fluid p e —10°C to +60°C

| With adjusting bolt 30 to 200 mm/s

Piston speed (Non-lube) }With shock absorber 30 10 500 mm/s } Refer to Table (1).

Cushion

With shock absorber (Option)

Stroke adjustable range Standard stroke: +2 mm
CX2N10 9.8N
Max. load mass cX2015 29.4N
CX2025 58.8N
Non-rotating y CX2N10 +0.1°
( Except piston rod) CX2015 +0.04°
deflection CX2025 +0.02°

Accessory (Option)

Straight knock pin (2 pcs.), Adjusting bolt (-X138)@

Shock absorber

Note 1) Place the center of gravity of the load as close to the center of the slide unit as possible
during operation. If they are placed far apart, consult with SMC.
Note 2) “-X138” has a stroke adjustable range of 12.5 mm on one side.

Table (1) Air-hydro/Piston Speed

Model Plate mounting Housing mounting
CX2H15 Refer to the below. Note ) 5 to 50 mm/s
CX2H25 5 to 40 mm/s 5to 100 mm/s

Note 1) Consult with SMC when the air-hydro type is mounted on a plate.

Note 2) Consult with SMC when units are used at a low speed (10 mm/s or faster) (when
intermediate stops are not required) since -XB13 (Low speed specification) is available.

Note 3) When using the air-hydro type, use the double side hydro unit.

Symbol S Shock Absorber Specifications
-XB11 | Long stroke type
-XB13 | Low speed cylinder (5 to 50 mm/s) Shock absorber RB0805 RB1006
-XB22 | Shock absorber soft type RJ series type Applicable slide unit CX2N10, CX2[115 CX2025
-XC22 | Fluororubber seals energy absorption (J) 0.98 3.92
Stroke absorption (mm) 5 6
Max. collision speed (m/sec) 0.05t0 5
Max. ing frequency (cycle/min) 80 [ 70
Max. thrust (N) 147 \ 353
Ambient temperature range (°C) -10to 80
Spring foree (N)\ Extended 1.96 4.22
| Retracted 3.83 6.18
Weight (g) 15 25

#The above shows the maximum absorption energy per cycle. Accordingly, the operating
frequency can be increased in accordance with the absorption energy.

#The shock absorber service life is different from that of the cylinder body depending on the
operating conditions. Refer to the RB Series Specific Product Precautions for the replacement
period.

Theoretical Output

Moisture -

Control Tube N)

IDK Series — Model Rod size |Piston area Operating pressure (MPa)
When operating an actuator with a small diameter (mm) (mn’) 02 | 03 |04 |05 )| 06|07 | 08|09
and a short stroke at a high frequency, the dew CX2N10 6 101 20 30 40 51 61 71 81 91
condensation (water droplet) may occur inside the CX20115 8 207 41 62 83 104 | 124 | 145 | 166 | 186
piping depending on the conditions. CX2025 14 597 | 119 | 179 | 239 | 299 | 358 | 418 | 478 | 537
Simply connecting the moisture control tube to the

actuator will prevent dew condensation from oc-
curring. For details, refer to the Web Catalog.

Note) Theoretical output (N) = Pressure (MPa) x Piston area (mm?)

873 ®


https://www.smcworld.com/content/en-jp/products/custom/index.html
https://www.smcworld.com/webcatalog/en-jp/seriesList/?id=IDK-E

CX2 series

Standard Stroke Table

Basic stroke (mm)

e 25 50 75 100 125 150 175 200
CX2N10 [ J [ J [ ] [ ] — — — —
CX2015 [ J [ ] [ ] [ ] [ ] [ ] [ ] [ ]
CX2[125 [ J [ J [ J [ J [ J [ J [ ] [ ]

Weight
(kg)
Basic stroke (mm)

ihieet 25 50 75 100 125 150 175 200
CX2N10 | 017 | 022 | 027 | 032 — — — —
CX2015 | 023 | 034 | 045 | 056 | 067 | 078 | 089 1.00
CX20025 | 0.93 115 1.36 158 180 | 2.01 229 | 245

Operating Direction with
Different Pressure Ports

Deflection of Piston Rod by
Center Loading (Reference)

Operating direction of housing when the

plate is fixed

— ]

When center loading is added to the center
of the housing

Accessory

Straight Knock Pin (Option)
CE
g

5 ) = (mm) >
Stroke )
E Model 100 200 L
Standard side of housing Load (N)
(Mounting side) CX2N10 9.8 0.07 — (mm)
CX2015 29.4 0.08 0.28 Model L oD Part no.*
o i | CX20025| 588 0.02 0.08 CX2N10 | 10 4 MS4-10
/ /) cX2015| 10 5 MS5-10
4= ) cx2025 | 15 6 MS6-15

Operating direction of the housing

‘ Pressure port

alslc[p[e[F]

When center loading is added to the center
of the plate

‘ Operating direction

[pign] Let | Lett [mignt] Let [Right]

+ There are 9 possible reciprocating piping methods.

874

-f: :
i

(mm)

g Deflection width

gt
Stroke

Model Load (V) 50 | 100 | 150 | 200

CX2N10 2.94 0.06 | 0.30

CX20015| 4.90 0.09 | 022 | 050 | 1.0

CX20025| 9.81 0.03 | 0.09 | 0.16 | 0.25

Note) The values denote the total width of the
deflections in the upward/downward
direction.

# Manufactured by Misumi Trading Ltd.




Slide Unit/Double Rod Type CX2 series

Construction/Parts List, Seal List

CX2N10
3 i 9 B 5) (0
oozl A ]
' >
)
7 6 19 @@
CX2N15, 25
Parts List Parts List
No. Description Material Note No. Description Material Note
1 | Rod cover Aluminum bearing alloy 17 | Steel ball High carbon chrome bearing steel Heat treated
2 | Housing Aluminum alloy Hard anodized 18 | Socket Brass Electroless nickel plated
3 | Piston Aluminum alloy 19 | Gasket
4 | Piston rod Carbon steel piping for Hard chrome plated 20 | Rod seal
5 | Plate Aluminum alloy Anodized 21 | Piston seal NBR
6 | Lock nut Carbon steel Nickel plated 22 | Piston gasket
7 | Adjusting bolt Chromium steel Zinc chromated 23 | Cylinder tube gasket
8 | Set screw (For fixing rods) Chromium steel Zinc chromated
9 | Pin Carbon steel Quenched
10 | F ining ring Carbon tool steel Phosphate coated Replacement Parts: Seal Kit
11 | Plug Carbon steel Nickel plated Model Kit no. Contents
12 | Magnet _ CX2N10 CX2N10-PS )
13 | Ball fixing screw Chromium steel Zinc chromated CX2N15 CX2N15-PS A set of @, @), @ listed above
14 | Spring Stainless steel CX2N25 CX2N25-PS
15 | Type CR retaining ring Carbon tool steel * Seal kit includes @, @), @. Order the seal kit, based on each bore size.
16 | Round type R retaining ring Carbon tool steel Phosphate coated . gi—gseptﬁ‘eog egaﬁl‘ili(te(tigg Slsnr;ﬁr:gzlsgeaable.) .
grease pack, order it separately.

Grease pack part no.: GR-S-010 (10 g)

875



CX2 series

210 Basic Type: CX2N10 - [Strokes: 25 t0 100][]

SS S 4x065 depth 3.5
2 F poot
- 4x03.3 through 2 X_MS x0.8
G R Cylinder port
©l Socket
=]
— T ] _
; ==
el | ‘-¢¢\----- S 3 < r
R |
/ - ot ﬁ‘ 2xM8x1.0
/ oo Adjustingbolt_J| | 7.5
2x M4 x0.7 thread depth 8 2x04 w7 Q 9
4 x M4 x 0.7  Bottomthrough-hole 03.3 through depth 5 T
‘Socket connection port (2 posttions of hexagon socket head cap screws)
2 x M5 x 0.8 Cylinder port
Plug (M-5P)
sel o] & b e—n
i
14.5 L
Max.7,9 9 13 2x2xo4wr 5% depth 5

Z

[” T2x2xM4x0.7 thread depth 8
r_-% r=1
el | | ,4’@.,_.;@}, vtz i E
/2 06.5 counterbore ™\ 2 x 93.3 through Max. ZZ )

Shock absorber
/RB0805

depth 3.3 Q
k With shock absorber
Max. ZZ
(mm)
With adjusting bolt | With shock absorber
Model F G L P Q R ) SS z 7z 7z
CX2N10-25 9.5 19.5 38 48 103 28 27 67 94 132 176
CX2N10-50 20 30 63 52 153 32 52 92 144 182 226
CX2N10-75 25 35 88 67 203 47 77 117 | 194 232 276
CX2N10-100 | 25 35 113 92 253 72 102 | 142 | 244 282 326
Housing mounting type with auto switch Plate mounting type with auto switch

CDBX2N10-[Stroke | CDPX2N10-[Stroke |

Magnet mounting block )
Auto switch

Auto switch

Plugs (2 pcs.)

Note 1) The di i how D-E7CJA D-E80A.
ote 1) The dimensions show and 80 Note 1) The dimensions show D-A7 and D-A8.

Auto switch model Hw | Ht | Hv
D-A7, D-A8 23 15 | 10.5
D-F700, D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BA, D-F7TNT

23 15 | 11.5

D-A700H, D-A80H 22 | 15 | 115
D-A73C, D-A80C 23 | 175|175
D-F700V 23 | 15 | 14
D-J79C 24 | 175 | 17
D-F7LF 30 | 15 | 115
Note 2) For only 25 strokes, two magnets for auto switches are installed in
the housing.

876



Slide Unit/Double Rod Type CX2 series

Hexagon socket head cap plug

= |
> =%
— | H - - .
;3 ,; == 15 Basic Type: CX2[]15=Strokes: 25 to 200][_|
- [ {
§ )
W) 2
== e 2 x 2 x 08 counterbore depth 4
8 2 ss s | 2x2xM5x0.8
« F p 001 |
05+ hole pitch) 2 x2x04.3 through
3
I E SO — T -
L | T
ol I I .
3 = o KIE 1= 8
| ! Py
r s % ==l ¥
J T s
4xM5x0.8 [ 2x 051 3% depth 6
thread depth 10
2xM5x0.8
al =
o N
2xM8x1.0 z 10, 3xM5x0.8

Adjusting bolt \

thread depth 10

Shock absorber
RB0805

|
=]
]
=]
I
¥ v
+0.012 Max. 31
2x 0517 "0 4 x 07.6 counterbore depth 4.4
Depth 6 Q With shock absorber
L Max. ZZ o
(mm)
With adjusting bolt | With shock absorber
Model
odel F L P Q S [SS| Z 7z 7z
CX2[115-2500 | 24.5 38 20 106 27 69 96 128 178
CX2[15-5000 | 24.5 63 45 156 52 94 146 178 228
CX2015-7500 27 88 65 206 77 119 | 196 228 278
CX2[15-10000| 27 113 90 256 | 102 | 144 | 246 278 328
CX2015-1250]| 39.5 | 138 90 | 306 | 127 | 169 | 296 328 378
CX20015-15000| 52 163 90 | 356 | 152 | 194 | 346 278 428
CX20115-1750]| 64.5 | 188 90 | 406 | 177 | 219 | 396 428 478
CX20115-20000| 77 213 90 | 456 | 202 | 244 | 446 478 528

Housing mounting type with auto switch

CDBX2[]15-[Stroke]

Magnet mounting block

Auto switch

Note 1) The dimensions show D-A7 and D-A8.

Plate mounting type with auto switch

CDPX2[_]15-[Stroke]

Auto switch Hw.

Note 1) The dimensions show D-A7 and D-A8.

Auto switch model Hw | Hs | Ht Auto switch model Hw | Ht | Hv
D-A7, D-A8 23 | 125 ] 15 D-A7, D-A8 23 | 15 | 105
D-F70, D-J79, D-J79W, D-F7PW, 23 | 125 15 D-F70, D-J79, D-J79W, D-F7PW, 23 | 15 | 115
D-F79F, D-F7BA, D-F7NT : D-F79F, D-F7BA, D-F7NT i
D-A70H, D-A80H 22 | 125 | 15 D-A70H, D-A80H 22 | 15 | 115
D-A73C, D-A80C 23 | 15 | 175 D-A73C, D-A80C 23 | 175|175
D-F700V 23 [ 125 | 15 D-F700V 23 | 15 | 14
D-J79C 24 | 15 | 175 D-J79C 24 | 175 | 17
D-F7LF 30 [125] 15 D-F7LF 30 | 15 | 115

Note 2) For only 25 strokes, two magnets for auto switches are installed to Note 2) For only 25 strokes, two magnets for auto switches are installed in

the magnet mounting block.

the housing.

877



CX2 series

r—5 ; ? L
}_;"j ~ 2" 525 Basic Type: CX2[25 - Sickes 10 z00][ |

0 24 a /—/‘J’ 2x2x09.5 counterbore depth 5 2x 2 x R (PT) /g
[} 0 SS ) S '
K/ L Plug Re (PT) /g
< F P£001 |
(@6 17 hole pitch) - 2 x 2 x 95.2 through
.
. 5——% 5 _
i
L | i S
B g B 2 % 8
Bl o} =
B = Q - Y
[
T
4xM6x1.0/ /2xu5m’8°‘2depms 18
thread depth 12

2XRe (PT) e

19.5 | Dimensions at 25 strokes Cylinder port
T

i I ==k o

20.5 L 251
Max.
2xM10x1.0 , 6,16 z 118, 3xM6x1.0
Adjusting bolt
jjusting bol N 3 P 4 %055 through l thread depth 12
[
16
5 = p
H L ‘@ 5l 3
5 o
1ol
2 x 0617 3"
Depths 4 x 9.5 counterbore
depth 5.5 Q .
With shock absorber
Max. ZZ
(mm)
With adjusting bolt | With shock absorber
Model F L P Q S |SS| z 7z r zz
CX2[125-250] | 28.5 | 43 25 125 27 82 109 153 203
CX20125-5000 31 66 45 175 52 107 | 159 203 253
CX20125-7501 | 335 | 91 65 | 225 77 132 | 209 253 303
CX2[125-100C71) 33.5 | 116 90 | 275 | 102 | 157 | 259 303 353
CX2[0125-12501| 46 141 90 | 325 | 127 | 182 | 309 353 403
CX20125-15007) 58.5 | 166 | 90 | 375 | 152 | 207 | 359 403 453
CX2[0125-17500| 71 191 90 | 425 | 177 | 232 | 409 453 503
CX2[125-200C1| 83.5 | 216 90 475 | 202 | 257 | 459 503 553
Housing mounting type with auto switch Plate mounting type with auto switch
CDBX2[_]25-[Stroke] CDPX2[]25- Stroke]
Auto switch Hw
Auto switch Hw Magnet mounting block
; AT / >
o T
=== - il $ g__ =
| bl
e 3 83
2 P
1 o]
el
Plugs (2 pcs.)
Rc (PT) /g
Note 1) The dimensions show D-A7 and D-A8. Note 1) The dimensions show D-A7 and D-A8.
Auto switch model Hw | Hs | Ht Auto switch model Hw | Ht | Hv
D-A7, D-A8 23 [ 125 ] 15 D-A7, D-A8 23 | 15 | 105
D-F70, D-J79, D-J79W, D-F7PW, 23 | 125 | 15 D-F70, D-J79, D-J79W, D-F7PW, 23 | 15 | 115
D-F79F, D-F7BA, D-F7NT : D-F79F, D-F7BA, D-F7NT i
D-A70H, D-A80H 22 | 125 | 15 D-A70H, D-A80H 22 | 15 | 115
D-A73C, D-A80C 23 | 15 | 175 D-A73C, D-A80C 23 | 175|175
D-F700V 23 | 125 | 15 D-F700V 23 | 15 | 14
D-J79C 24 | 15 | 175 D-J79C 24 | 175 | 17
D-F7LF 30 [125] 15 D-F7LF 30 | 15 | 115
Note 2) For only 25 strokes, two magnets for auto switches are installed to Note 2) For only 25 strokes, two magnets for auto switches are installed in
the magnet mounting block. the housing.

878



Operating Range

Slide Unit/Double Rod Type CX2 series

(mm)
i Applicable cylinder size

Auto switch model 10 15 25
D-A7L)/A80 Housing —
D-A7CH/ABOH  —TiMing 6 6
D-A73C/A80C Tt 6
D-E7CJA/E80A Housing mounting 6 — —
D-F70/J79 Housing
D-F7OVA79C |  mounting - 25 25
D-F7OW/F70WV
D-F7BA/F7BAV Plate
D-F79F/F7NT mounting 25 25 3

= Since the operating range is provided as a guideline including hysteresis, it
cannot be guaranteed (assuming approximately +30% dispersion). It may
vary substantially depending on an ambient environment.

e |

Besides the models listed in How to Order, the following auto switches are applicable.
Refer to pages 1289 to 1383 for the detailed specifications.

N Electrical entry Applicable cylinder size
Auto switch type Model (Fetching direction) Features Housing mounting | Plate mounting
Solid state D-F7NT Grommet (In-line) | With timer 015, 025 210, 015, 025

= With pre-wired connector is also available for D-F7NT type. For details, refer to pages 1358 and 1359.
* It is impossible to mount solid state auto switches to the housing mounting 210.

Lo o o o o o o e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e el

879



CXWM/CXWL series
Prior to Use

1. Changing from the non-auto switch specifications to the auto switch specifications
2. Changing mounting type of the auto switch specifications

CXW" Series

————
1. In CXW series, to change from the specification without auto switch to the plate mounting type with auto switch
or to the housing mounting type with auto switch, refer to tables (3) and (4) before ordering.

Without auto switch: CXW'E I:I - I:I
Plate mounting type

with auto switch: CDPXWR{II:I S _I:I <on-Table (3)
Housi ting ty|
with auto switch:  CDBXWYL_IM=[] --Table (¢

2. In CXWY series, to change from the plate mounting type with an auto switch to the housing mounting type with
an auto switch or vice versa, refer to tables (3) and (4) before ordering.

PI; i
with auto switen: -~ CDPXWY[JS-[1-

Table (3)

Housing mounting type
with at.?to switct?: e CDBXWVY[IM=-[] -Table (4)

Table (3) Plate Mounting Type with Auto Switch
(CDPXW ' 0O-0) Component Parts for Mounting Switches and No. of Component Parts

210 216 220 025 | 032
Component parts Material Assembly model no. for mounting switch
copxw! | copxw} | copxw} | copxw! | copPxw!
10S-0 16S-0 20S-0 25S-0] 32s-0
Switch mounting block | Aluminum alloy 1 1 1 1 1
Block mounting screw | Chrome steel/Nickel plated 2 2 2 2 2
Switch mounting screw | Chrome steel/Nickel plated 2 2 2 2 2
Hexagon nut Carbon steel/Nickel plated 2 2 2 2 2
Magnet — 1(2)@ — — — —
Socket Brass/Electroless nickel plated 2 e P
Plug (M-5P) Brass/Electroless nickel plated 2 2 2 — —

Note 1) “O0” mark indicates strokes.

Note 2) In the case of 210, the 25 mm stroke has two magnets that are bonded in the holes on the side of the
housing. Those with strokes of 50 mm to 100 mm have one magnet. Those with other bore sizes have a
built-in magnet in their housings.

Note 3) For the assembly model no. for mounting switch, order with CDPXWMOO-O for CXWM series and order
with CDPXWLOO-O for CXWL series respectively.

Table (4) Housing Mounting Type with Auto Switch
(CDBXW '00-01) Component Parts for Mounting Switches and No. of Component Parts

210 216 220 925 232
Component parts Material Assembly model no. for mounting switch
coBxw} | coBxw! | coBxw} | cpBxw} | cpBXwW}
10M-0 16M-0 20M-0 25M-0 32M-0
Magnet mounting block assembly | Aluminum alloy 1 1 1 1 1
Switch mounting rail | Aluminum alloy 1 1 1 1
Spacer Aluminum alloy/Anodized 2 — —
Block mounting screw | Chrome steel/Nickel plated 2 2 2 2 2
Screw for mounting rail | Chrome steel/Nickel plated 2 2 2 2
Switch mounting screw | Chrome steel/Nickel plated 2 2 2 2 2
Hexagon nut Carbon steel/Nickel plated 2 2 2 2 2
Hexagon socket head plug | Chrome steel/Nickel plated 2 2 2 e —

Note 1) “O0” mark indicates strokes.
Note 2) In the case of 810, CDPXW!10-0 can NOT be changed to CDBXW!'10-01. (CXWY10-0J can be changed to

CDBXWY10-01)
Note 3) For the assembly model no. for mounting switch, order with CDBXWMOO-O for CXWM series and order

with CDBXWLOO-OI for CXWL series respectively.

880



Basic type

Cylinder with auto switch

IS e

Slide Unit: Built-in Shock Absorber
Slide Bearing Type

CXWM series

210, 216, 020, 25, 32

How to Order

cxXxwm|16| |—[150]

—(150|

—[J7ow] |—

Symbol | Specifications/Mounting 1
With auto switch/ Bearing type
L2 Housing mounting _g yp -
DP With auto switch/ “ Slide bearing
Plate mounting

Bore size/Stroke (mm)

210

(25), 50, 75, 100

016

(25), 50, 75, 100, 125, 150, 175, 200

020

(25), 50, 75, 100, 125, 150, 175, 200

025

(25), 50, 75, 100, 125, 150, 175, 200

932

(25), (50), 75, 100, 125, 150, 175, 200

Note1) For the strokes indicated in the parentheses of the 610,

216 and 025, shock absorbers are to be mounted on
both sides of the plate. For the strokes indicated in the
parentheses of the 820 and 32, a shock absorber is to
be mounted on single side of the plate.

Note2) For the strokes other than those indicated above, refer to

page 882.
Note3) For 916, 820 and 025, strokes up to 300, and for 32,

strokes up to 250 are available as Made-to-Order. (-XB11)

End lock

Port thread type
N M thread | 10 to 820
Nil
Rc 1/8
TN |NPT 1/8| 025,032
TF | G18
Made to Order

* Refer to page 882 for the
Made to Order

specifications.
Number of auto switches
Nil 2 pes.
S 1 pc.
n “n” pcs.
Auto switch

[N ]

Without auto switch ‘

* For the applicable auto switch
model, refer to the table below.

Built-in Magnet Cylinder Model

Nil

None

T

Applicable Auto Switches/Refer to pages 1289 to 1383 for further information on auto switches.

If a built-in magnet cylinder without
an auto switch is required, there is
no need to enter the symbol for the
auto switch.

(Example) CDPXWM20-100

A Wiring Load voltage Rail mounting Applicable cylinder size | Lead wire length (m) * Previred Avplicabl
’ q lectrical re-wire pplicable
Type| Special function entry (Output) bC AC |Pependciar| In-line m“gﬁ;‘ﬂ‘% m:';‘tﬁ]g ((l)\iﬁ) (ﬁ) (g) b:?\;‘)e connector load
3-wire (NPN) F7NV | F79 Ol= o
<
£ Grommet | | 3-wire (PNP) sV v F7PV | F7P o) & IC ot
s -
H ) F7BV | J79 210 Ol[=] ©
2-) -
2 Connector wire 2V J79C - B;g 016 [ — Relay,
8 $ [3-wire (NPN)| 24V - [Fanwv] Frew | © 220 o= © uit| PLC
2 | Diagnostic indication > ; 5V, 12V 925 IC circuit
k] 3-wire (PNP) ’ - F7PW 232 225 Ol — O
g (2-color indicator) Grommet i 2y F7BWV| J79W 032 Q O
§ Water resisant (2ol incicato) F7BAV***|F7BA™** — O O
[ 4-wire (NPN) 5V,12V - F79F ® 0 O — O |(Ccircuit
uire (NPN equivelent)|  — 5V - - A76H o0 - - - ICcircut| —
$ - - [200v | A72 | A72H °10 " @[-|-| -
- g 216 _
g Grommet |~ | 12V | 100V | A73 | A73H | 020 ’”;g @ -[-| - Rela
H 2 2-wire o4V 5V,12V[100Vorless] A80 | A8OH | 25 225 o0 - - - IC cireut | ) '3 ¥
E - Connector 2 12v] - [A3C| - | e32 | 00 [@ @@ - —
g 2 5V,12V[24Vorless| A8OC — ® 00 e — 1C cirui
3 @ [Sire (PN eqiven) | — 5V - E76A e 0 - - - -
& arommet |~ [, T ey 12V 100V ]~ [TE73A | o10 - e fe[-[-] - — | Relay,
2 5V, 12 V{100V orless E80A o0 - - - IC circuit | PLC

=ix \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Consult with SMC regarding water resistant types with the above model numbers.

= Lead wire length symbols: 0.5 m -

None -

Nil  (Example) F79W

L  (Example) F79WL
Z (Example) F79WZ
N  (Example) J79CN

3m-
5m-

« Since there are other applicable auto switches than listed, refer to page 925 for details.
« For details about auto switches with pre-wired connector, refer to pages 1358 and 1359.
* Auto switches are shipped together (not assembled).

* Solid state auto switches marked with “O” are produced upon receipt of order.
i |t is impossible to mount solid state switches to the housing mounting 210.

881



CXWM series

Built-in shock absorber

This is a built-in shock absorber type in which
the shock absorber is enclosed in the housing.
Compared to the CX2 series with shock
absorber, this type achieves space savings in
the longitudinal direction (except 25 mm stroke).
Dramatically reduced
installation labor

The machining precision required for
positioning during the installation of the
cylinder has been reduced through the
adoption of a special pin hole machining
process, thus decreasing the amount of
labor involved in adjustment.

Provided with an end lock
mechanism

An end lock is also available, which

maintains the cylinder’s original position
even if the air supply is interrupted.

Symbol

Without cushion

Made to Order: Individual Specifications
(For details, refer to pages 927 to 929.)

| 10
Mgﬁfer

Specifications

Type Non-lube
Fluid Air

Proof pressure 1.5 MPa
Max. operating pressure 1.0 MPa
Min. operating CXWM10/16 0.15 MPa
pressure CXWM20/25/32 0.1 MPa

Ambient & fluid temperature

—10 to 60°C (No freezing)

Piston speed (Non-lube)

30 to 500 mm/s

Cushion

Shock absorber

Stroke adjustable range

Standard stroke: 2 mm

Accessory (Option) Straight

knock pin (2 pcs.), Adjusting bolt* (-X138)

# “-X138” has a stroke adjustable range of —12.5 mm o

n one side.

Maximum Load Weight/Non-rotating Accuracy/Maximum Holding Force

Model CXWM10 | CXWM16 | CXWM20 | CXWM25 | CXWM32
Maximum load weight* 1 kg 4 kg 5 kg 6 kg 10 kg
Non-rotating accuracy

(Deﬂection of apiston +0.09° +0.03° +0.03° +0.02° +0.01°
rod is not included.

Maximum holding force

( End lock model) 39.2N 98.1 N 1471 N 2452 N 392.3N

Shock Absorber Specifications

 Place the center of gravity of the load and center of the slide unit close during operation.
If they are placed far apart from each other, please consult with SMC.

Shock absorber () RBDBOS-XSSZ‘RBOBDS RB1006-X552| RB1006|RB1411-X552| RB1411
Applicable slide unit CXWM10/16-00 | CXWM20/25-0101 CXWM32-00

energy absorption (J) 0.98 3.92 14.7
Stroke absorption (mm) 5 6 1
Max. collision speed (m/sec) 0.05t0 5
Max. operating frequency (cycle/min) @) 80 70 45
Max. allowable thrust (N) 147 353 667
Ambient temperature range (°C) —10 to 80
Spring force (N) Extended 1.96 4.22 6.86

Retracted 3.83 6.18 15.30

Weight (g) 15 25 65

Note 1) “-X552" is an exclusive shock absorber installed in the housing, and is the screw not attached
specification of the outer part of the outer tube. The shock absorber plate mounting type of 25

and 50 strokes have the screw attached specifica

tion.

Note 2) It denotes the values at the maximum energy absorption per one cycle. Therefore, the
operating frequency can be increased according to the energy absorption.

curring. For details, refer to the Web Catalog.

® 882

Symbol Specifications = The shock absorber service life is different from that of the cylinder depending on the operating
-X138 | Adjustable stroke conditions. Refer to the RB series Specific Product Precautions for the replacement period.
-X146 | Hollow piston rod R
-X168 | Helical insert thread Theoretical OUtPUt - N)
-X169 | 2 built-in magnets Model Rod size Pis(ton aj)rea Operating pressure (MPa)

e (mm) mm 02| 03|04 |05]| 06|07 ]|08]09
Made to Order Specifications
Click here for details CXWM10-00 6 101 20 30 40 51 61 71 81 91
Symbol Specifications CXWM16-00 10 245 49 74 98 | 123 | 147 | 172 | 196 | 221
-XB11 | Long stroke type CXWM20-00 12 402 80 121 | 161 | 201 | 241 | 281 | 322 | 362
-XB13 | Low speed cylinder (5 to 50 mm/s) CXWM25-00 14 597 119 | 179 | 239 | 299 | 358 | 418 | 478 | 537
EXE22]| Fluororubber seal cXWM32-0O| 20 980 | 196 | 294 | 392 | 490 | 588 | 686 | 784 | 882

Note) Theoretical output (N) = Pressure (MPa) x Piston area (mm?)
- Standard Stroke

Moisture - ST

Control Tube Model tandard stroke (mm)

IDK Series _ 25 50 75 100 125 150 175 200
When operating an actuator with a small diameter CXWM10-000) (G (] (] (] — — — —
and a short stroke at a high frequency, the dew CXWM16-000 | (™ [ ] [ ] [ ] [ J [ ] [ J [ J
condensation (water droplet) may occur inside the CXWM20-00O | (x)@ [ J [ [ ] [ J [ ] [ ] [ ]
piping depending on the conditions. CXWM25-01] () () [ ) [ () [ [ [
Simply connecting the moisture control tube to the CXWM32-000 ()@ 9@ ° ° ° ° ° °
actuator will prevent dew condensation from oc-

Note 1) The strokes marked with “(x)” has an absorber of double side plate mounting type.
Note 2) The strokes marked with “(x)” has an absorber of single side plate mounting type.


https://www.smcworld.com/webcatalog/en-jp/seriesList/?id=IDK-E
https://www.smcworld.com/content/en-jp/products/custom/index.html

Slide Unit: Built-in Shock Absorber .
Slide Bearing Type CXWM Series

Weight (kg)

Stroke (mm)
25 50 75 100 125 150 175 200
CXWM10 0.28 0.35 0.42 0.49 - - - -
CXWM16 0.46 0.59 0.72 0.85 0.98 1.11 1.24 1.37
CXWM20 0.69 0.87 1.03 1.22 1.40 1.58 1.75 1.93
CXWM25 0.95 117 1.38 1.60 1.82 2.03 2.31 2.47
CXWM32 2.01 2.38 2.77 3.16 3.56 3.94 4.34 4.72

Model

Additional Weight with End Lock (CXWMO-CJR) (kg)
Applicable model Additional weight
CXWM10 0.08
CXWM16 0.14
CXWM20 0.15
CXWM25 0.20
CXWM32 0.43
Accessory
Operating Direction with Different Pressure Ports Straight Knock Pin (Option)
—
Operating direction of housing when the plate is With end lock (CXWM-OR)
fixed Operating direction of housing when the plate is g§
fixed co
+D+
- v eg ®
= [
adie =" B = e L
1
o e | o= =g ] f
L
ﬁ Standard side of housing Standard side of housing
(Mounting side) Mounting side)
; o (mm)
; i ! | | ! Model L oD Model*
FITTT77r77 77T T R CXWM10 | 10 | 4 | Ms4-10
BK L [ S CXWM16 | 10 | 5 | Ms510
Operating direction of the housing Operating direction of the housing CXWM20 15 6 MS6-15
‘Pressureport ‘A‘B‘C‘D‘E‘F‘ ‘Pressurepon ‘A‘B‘C‘D‘E‘F‘G‘H‘ CXWM25 15 6 MS6-15
| Operating direction _[Right] Lett | Left[Right Left [Right] | Operating direction|Right|Left | Lt ight[igt| Lt Left g CXWM32 | 20 | 8 | MS820
= There are 9 possible reciprocating piping methods. * There are 16 possible reciprocating piping methods. * Manufactured by Misumi Trading Ltd.

Deflection of Piston Rod by Center Loading (Reference)

When center loading is added to the center of When center loading is added to the center of
the housing the plate
F

Deflection width

e =
(mm) (mm)
Stroke Stroke
Model 100 200 Model 50 | 100 | 150 | 200
Load (N) Load (N)

CXWM10 9.81 0.07 - CXWM10 | 2.94 |0.06]|0.30| — -
CXWM16 39.2 0.05 0.20 CXWM16 | 4.90 |0.03|0.10|0.25 |0.45
CXWM20 49 0.04 0.15 CXWM20 | 7.84 |0.03|0.09|0.18|0.35
CXWM25 58.8 0.02 0.08 CXWM25 | 9.81 |0.03|0.09|0.16 |0.25
CXWM32 98.1 0.02 0.07 CXWM32 | 29.42 |0.02|0.05|0.10 |0.15

Note) The values denote the total width of the
deflections in the upward/downward
direction.

883



CXWM series

Construction: 10, 216, 925

CXWM10

With end lock

CXWM16, 25
@ENDEVE ¢

216/With end lock ©25/With end lock

884 4 S\VC



Slide Unit: Built-in Shock Absorber

Construction: 10, 216, 925

Component Parts

Slide Bearing Type CXWM Series

Component Parts: With End Lock

No. Description Material Note No. Description Material Note

1 |Rod cover Aluminum bearing alloy 24 | Locking body Aluminum alloy Hard anodized

2 |Housing Aluminum alloy Hard anodized 25 | Lock finger Alloy tool steel Nickel plated after quenched
3 |Piston Aluminum alloy Chromated 26 | Lock piston Carbon tool steel |Electroless nickel plated after quenched
4 | Piston rod Car cnstucions | Hard chrome plated 27 | Rod cover Aluminum alloy

5 |Plate Aluminum alloy Hard anodized 28 | Return spring Spring steel Zinc chromated

6 |Lock nut Carbon steel Nickel plated 29 | Adj bolt Chromium steel Nickel plated

7 | Adj bolt Chromium steel Nickel plated 30 | Body gasket NBR

Set screw . . 31 | Rod seal NBR
8 (For fixing rods) Chromium steel Nickel plated 32 | Piston seal NBR
Set screw (For fixing . 33 | Steel ball High carbon chrome bearing steel

9 | shock absorbers) Stainless steel 34 | Steel ball High carbon chrome bearing steel

10 |Retaining ring Carbon tool steel Phosphate coated 35 | O-ring NBR

11 | Plug Brass Nickel plated 36 | Round type Rretainingring|  Carbon tool steel Phosphate coated
12 | Magnet — o5 37 | Lock nut Carbon steel Nickel plated

13 | Set screw for seal Chromium steel Nickel plated 38 | Plug Chromium steel Nickel plated

14 | Spring Stainless steel

15 | Type CRretaining ring| Carbon tool steel Replacement Parts: Seal Kit

16 | Round type Rretainingring|  Carbon tool steel Phosphate coated End Lock

17 | Shock absorber — (RB0805-X552 or‘RBIOOG-XESQ) Model Kitno. CooE

18 | Socket Brass Electroless nickel plated CXWM10 CXWM10R-PS

19 | Gasket NER CXWM16 CXWM16R-PS | Set of nos. above 30, ), &, &
20 | Rod seal NBAR CXWM25 CXWM25R-PS

21 | Piston seal NBR * Seal kit includes 30, @1, 32, 3. Order the seal kit, based on each bore
22 | Piston gasket NBR Seize, 2 s 3

23 | Cylinder tube gasket NBR = Since the seal kit does not include a grease pack, order it separately.

Replacement Parts: Seal Kit
Cylinder Body

Model Kit no. Contents
CXWM10 CXWM10-PS
CXWM16 CXWM16-PS Set of nos. above 2, @0, 23
CXWM25 CXWM25-PS

= Seal kit includes 23. Order the seal kit, based on each bore size.
(The piston gasket @2 is not replaceable.)

= Since the seal kit does not include a grease pack, order it separately.
Grease pack part no.: GR-S-010 (10 g)

Grease pack part no.: GR-S-010 (10 g)

885



CXWM series

Construction: 320, 32

@Ow @O @ @ ®

[BE

With end lock

/@
S
&

13
T

Component Parts

Component Parts: With End Lock

No. Description Material Note No. Description Material Note
1 _|Rod cover Aluminum bearing alloy — 1 | Locking body Aluminum alloy Hard anodized
2 |Housing Aluminum alloy Hard anodized 2 | Lock finger Alloy tool steel Nickel plated after quenched
3 |Piston Aluminum alloy Chromated 3 | Lock piston Tool steel Electrolss nickel plated after quenched
4 |Piston rod Carbon steel for machines| Hard chrome plated 4 |Rod cover Aluminum bearing alloy
5 [Plate Aluminum alloy Hard anodized 5 |Steel ball High carbon chrome bearing steel
6 |Adj bolt Chromium steel Nickel plated 6 | Steel ball High carbon chrome bearing steel
7 | Hexagon socket head set screw Chromium steel Nickel plated Round type R retaining ring | Carbon tool steel Phosphate coated
8 |Retaining ring Tool steel Phosphate coated Return spring Spring steel Zinc chromated
9 |Magnet — _9 |Plug Chromium steel Nickel plated
Spring Stainless steel 1&‘8?@)15101200)9 Chromium steel Nickel plated
Type CR retaining ring Carbon tool steel | (25),508T |t nut Carbon steel Nickel plated
_12 | Round type R retaining ring Carbon tool steel Phosphate coated N;xsswquuom Adj bolt]  Chromium steel Nickel plated
Shock absorber — RB1006-X552, RB1411-X552 (25), 50 ST | Shock absorber — RB1006 or RB1411
4 | Hexagon socket head set screw Chromium steel Nickel plated 2 | Body gasket NBR
Hexagon socket head plug Chromium steel Nickel plated 3 |Rod seal NBR
Hexagon socket head set screw Chromium steel Nickel plated 4 | Piston seal NBR
Piston seal NBR 5 | O-ring NBR
goﬁns(ieeal'ltube asket mg; Note) The strokes indicated in the parentheses are of CXWM20, and
il 9 CXWMB32 includes the strokes indicated in the parentheses.
20 [Piston gasket NBR
Replacement Parts: Seal Kit Replacement Parts: Seal Kit
Cylinder Body End Lock
Model Kit no. Contents Model Kit no. Contents
CXWM20 CXWM20-PS @ @ @@ CXWM20 CXWM20R-PS @ @ @ @
CXWM32 CXWM32-PS Set of nos. above @, @, ® CXWM32 CXWM32Rps | Set of nos. above (2, (3, 9, @5

= Seal kit includes (7, @8, 9. Order the seal kit, based on each bore size.
(The piston gasket 20 is not replaceable.)

= Since the seal kit does not include a grease pack, order it separately.
Grease pack part no.: GR-S-010 (10 g)

886

= Seal kit includes (2
size.

= Since the seal kit does not include a grease pack, order it separately.
Grease pack part no.: GR-S-010 (10 g)

(3, 19, (5. Order the seal kit, based on each bore



Slide Unit: Built-in Shock Absorber
Slide Bearing Type

210 Basic Type: CXWM10-|Stroke/50 to 100

CXWM series

Max.ZZ
L Q )
2x 2 x 3.3 through | ss s
2 x2x06.5 counterbore depth 3.2 F p=005 =
']‘(zw hole pitch) ;E,t
2xM8x1.0 | £
Adjustment bolt e
= ©|
- ° ]
Ka 6 & |
i Y
g e 1o = ng | y | €
4 ' — =
et a |
{ | \ |
04+17°0°"2 depth 6 4 x M4 x 0.7 thread depth 6 Socket 3 L 6
4 positions of set screws for fixing shock absorber (M4) 2xM5x0.8
2 x M4 x 0.7 socket connection port (2 positions of hexagon socket head cap plug) Cylinder port
+0.012
© 04H7 "8 o
. b
2@ 2 @ﬁéz =
: LB
©
14.5 L - 2 x M5 x 0.8 plug (M-5P)
(Port on the housing side)
Max. 8 10 4 10 9.5
2 x 2 x o4n7 *§°"%depth 5 F P 4 x 03.2 through
4 x 06.5 counterbore depth 3.3
S
[
— = ) »y
o —e— ' 4
o] o
EEFES ‘ w/H 1
Nl |
e — 4
—& Lo
2 x2x M4 x0.7 thread depth 8 2 x RB0805-X552
Shock absorber
(mm)
Model F L P Q S SS z zz
Note) For 25 stroke, the shock absorber is mounted on a CXWM10-50 26 63 40 154 52 92 144 | 1815
glaa;e. For dimensions of the 25 stroke, refer to page CXWM10-75 26 88 65 204 77 17 194 | 2315
' CXWM10-100 26 113 90 254 102 142 244 | 2815

887



CXWM series

210 Basic Type: CXWM10-[25 stroke]

Max. 176
104 ,
2 x 2 x 3.3 through 67 27
2x2x06.5 .
counterbore depth 3.2 21 25+005
(047 hole pitch)
|
E=]
— ©
5|
o
/4 5
RS 6, o &
A N
Y o
s = e Fofdd =3 4 |6
o &
17
7 1S
+0.012 / 3
o4n7 0 depth 6 4 xMdx 0.7 Socket t
2 x M4 x 0.7 socket connection port thread depth 6 2xM5x0.8

(2 positions of hexagon socket head cap plug)

Cylinder port

2xM8x1.0
RB0805
Shock absorber

o4H7 13012
Kl o
Ly —
ol o o et
=) —
©
14.5 38 2 x M5 x 0.8 plug (M-5P)
(Port on the housing side)
4 x 3.2 through
4 x 96.5 counterbore depth 3.3
2 x 2 x o4n7 "8 depth 5 10 94 10 9.5
21 25
Kl
o ||
L | Iz C)
k) N7 2 ]
1
g
i = o e
e & € | 5
P Py
3

2x2x M4 x0.7 thread depth 8

888

31



Slide Unit: Built-in Shock Absorber

Slide Bearing Type

210 With End Lock: CXWM10-|Stroke/50 to 100 R

CXWM series

2x2xM4 x0.7 thread depth 8 Max. ZZ
2x2x 04173 depth 5
o X M8 x 1.0 2 x RBOB05-X552
Adjustment bolt ’/ Shock absorber
' O]
I =
l : e
| : :
S
i se— gle
” (3¢
al B e e 4
' =" 1=
0! 40 4 x ©3.2 through Socket
4] 9|\ 2xMs x0.8 hexagon socket head cap plug 4x06.5 counterbore depth 33 2 x M5 x 0.8

(Cylinder port)

Cylinder port

2 x M5 x 0.8 plug (M-5P)

2 x 2 x ©3.3 through

Max. 9 14.5 (Cylinder port)  Max. 8
T = ®
o~ © —]
H e fomn &
W4H"+sz g
10 9.5
End lock mechanism 25 10 0417°8°"2 depth 6
) _h .
el e 3
@ il —C = o
‘lg 59 “é ‘QL o - #
w 0 &b hd | [
: -
3 @ < hd 5%

\4 X M4 x0.7 thread depth 6\ 4 positions for set screws

2 x M5 x 0.8 hexagon socket head cap plug
(Cylinder port)

105 5

= 1C

Housing mounting type with auto switch

CDBXWNM10-[Stroke], CDBXWM10-[Stroke R

Auto switch 22 Magnet mounting block

T

{T\

Note 1) The dimensions show D-E7CJA and D-E80A.

Note 2) For 25 stroke, the shock absorber is mounted on a single side
of the plate. For dimensions of the 25 stroke, refer to page
890.

for fixing shock absorbers (M4)

2 x 2 x ©6.5 counterbore depth 3.2

(mm)
Model zz
CXWM10-50R | 204.5
CXWM10-75R | 254.5
CXWM10-100R | 304.5

Plate mounting type with auto switch

CDPXWM?10-[Stroke|, CDPXWM10-[Stroke|R

_Auto switch
\

11.5]

Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Ht Hv
D-A70, D-A80 23 15 10.5
D-F700, D-J79, D-J79W, D-F700W,
D-F79F, D-F7BA, D-F7NT 23 | 15 | 10
D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 175 | 175
D-F701V, D-F7O0WV, D-F7BAV 23 15 14
D-J79C 24 17.5 16

Note 2) For 25 stroke, the shock absorber is mounted on a

single side of the plate. For
refer to page 890.

dimensions of 25 stroke,

889



CXWM series

210 With End Lock: CXWM10-[25 Stroke]R

2 x2x M4 x0.7 thread depth 8

Max. 176
2 x 2 x 04n7*§°"2 depth 5
M8
Adjustment bolt
©
_@_ 1 ™ —
2 | B g
o
2 ! - 5® A
&
il EY::
2 < (€]
L o= — Socket
2 M5 x 0.8 hexagon sacket head cap plug 0.5, 40 4 x 03.2 through 2xM5x0.8
{Cylinder port) 4|9 4x06.5 counterbore depth 3.3 Cylinder port
Max. 9 145 2 x M5 x 0.8 plug (M-5P) 2 x RB0805 shock absorber
T-— ]-—— (Cylg der port) (Single housing installed)
e Sl & Wg—ﬂl
e %mﬁ#m” =T L]
1
[le)
0417 8™ © Max.31 |
o012 0 9.5 2x2x03.3 through
End lock mechanism 22 10 0470 depth 6 2 x 2 x 06.5 counterbore depth 3.2
Nem
TR ~ &
o %6 / = o
" 5
SR k. e s
o o
0
© ¢ o™

2 positions for set screws for

ay
\

4 x M4 x 0.7 thread depth 6

fixing shock absorbers (M4)

2 x M5 x 0.8 hexagon socket head cap plug  10.5 . 5
(Cylinder port)
<
f Py
1 O
ol

=

Housing mounting type with auto switch

CDBXWM10-25, CDBXWM10-25R

Auto switch
 \

Note 1) The dimensions show D-E7CJA and D-E80A.

Magnet mounting block

Note 2) 2 magnets for auto switches are equipped to the magnet

mounting block.

890

Plate mounting type with auto switch
CDPXWM10-25, CDOPXWM10-25R

Auto switch Hw

Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Ht Hv

D-A70], D-A80 23 15 | 105
D-F70, D-J79, D-J79W, D-F700W, 23 15 10
D-F79F, D-F7BA, D-F7TNT
D-A7CH, D-A80H 22 15 9
D-A73C, D-A80C 23 | 175 | 175
D-F701V, D-F7C0WV, D-F7BAV | 23 15 14
D-J79C 24 | 175 | 16

Note 2) 2 magnets for auto switches are installed in the

housing.



Slide Unit: Built-in Shock Absorber .
Slide Bearing Type CXWM Series

216 Basic Type: CXWM16-|Stroke/50 to 200

Q | 2x2x04.3 through
2 x 2 x 68 counterbore depth 4.5

F p+005
- e
(05 hole pitch) o
3 O 0| O 3
2xM8x1.0 £
=
Adjustment bolt @ 3 t_gj "‘@ @
N e
S 3 & & al o b @ SN
A 4 }( e e 50 ©
N | ° = 16 ]
5 & —o 3 &
0519012 depth 6 4 positions for set screws for fixing shock absorbers (M4)
4 x M5 x 0.8 thread depth 10
pebrii i 2x2xM5x08 55,1 .75
(Hexagon socket head cap plug)
18.5 - L
| o5H7 § 00 2xM5x0.8
| Cylinder port
o o | ylinder p
R S
dy g bV o —
i , =
Max.6 . 12 z 12 2x2xM5x0.8
F P 4 x @4.3 through Thread depth 10
| 4 x 08 counterbore depth 4.5
v —2
|13 ¢
| —IT
| 5
@ :B, 2 8B
- 1 ©
q T8 3
)\ N
5 3 \ 224
©

2x RBOBO5-X552 | 2x2x 0517 '8 depth 6
Shock absorber

(mm)
Model F L P Q S SSs 4 zz
CXWM16-50 35 | 63 | 30 | 164 | 52 | 100 | 152 | 188

CXWM16-75 325 88 60 214 77 125 202 238

CXWM16-100 375 113 75 264 102 150 252 288

CXWM16-125 42.5 138 90 314 127 175 302 338

CXWM16-150 55 163 90 364 152 200 352 388

Note) For 25 stroke, the shock absorber is mounted on a plate. CXWM16-175 | 675 | 188 | 90 | 414 | 177 | 225 | 402 | 438
Refer to page 892 for the dimensions of the 25 stroke. CXWM16-200 80 213 90 464 202 250 452 488

891



CXWM series

216 Basic Type: CXWM16-[25 stroke]

Max. 184

2 x 2 x 94.3 through

114

75 27

25

25 £0.05

(o5+7 hole pitch)

010

2 x 2 x 88 counterbore depth 4.5

=

C—

7

P

i
P
+0.012

depth 3

-

53
62
[l

¢
.

(D¢ | oG]

—

05w *3%"*depth 6 /

(e T ]
I~

\ 4 x M5 x 0.8 thread depth 10

2x2xM5x0.8 5.5 7.5

(Hexagon socket head cap plug)

Max. 29

25
24

2xM5x0.8
18.5 38 Cylinder port
o5H7 +8.D12
o) wiy &
_z@_{ == ¥
¥ =]

2xM8x1.0

RB0805
Shock absorber

4 x 94.3 through
4 x 98 counterbore di

epth 4.5

892

12 102 12 2x2xM5x0.8
Thread depth 10
25 25
A
% T Y fé:
| i I A
| 5
o« 3 [sp] P~
[ts] = % 0| ©|
A o
i L N 7N
s 2
LT | v
2 x 2 x 0517 8% depth 6



Slide Unit: Built-in Shock Absorber .
Slide Bearing Type CXWM Series

216 With End Lock: CXWM16-|Stroke/50 to 200/R

2x2xM5x0.8 thread depth 10 Max. ZZ
2x2 X;m;gm: Jeotn o 2 x RB0805-X552 2xM5x08
X X 1. -
Adjustment bot Shock absorber . Cylinder port\
r o e
R & o1 3 \
_@’ = —1® y
0 5 5
& a1 L8 @0
@ S
& & i 0 >
« & 1 &
i s e 1= hid
m* - 4 x 94.3 through u
4/ 11}2x M5 x 0.8 ) O‘iL-‘“L 4 x 08 counterbore depth 4.5 s =
Hexagon socket head cap plug (Cylinder port)
Max. 6
Max. 6 18.5 2 x M5 x 0.8 plug (M-5P)
| ™~ (Cylinder port)
8 »
Felhs s
o[ &
[ K==
[ ¥
05§
o012 2 2x2x04.3 through
End lock mechanism 23 .12 05+7 6% depth 6 2 x 2 x 88 counterbore depth 4.5
— E len e
[ ———
o I T F—r—
Jf= B
lﬁ ry ] T ry - (mm)
" Model 2z
H > | ldeels |
@ £ = N © CXWM16-50R | 211
4 positions for set screws —_——
2 x M5 x 0.8 hexagon socket head cap plug \for fixing shock abserbers (M4) CXWM16-75R 261
Cylinder port ,ﬁ.@‘ 4 x M5 x 0.8 thread depth 10 CXWM16-100R | 311
< CXWM16-125R | 361
o) CXWM16-150R | 411
@) CXWM16-175R | 461
CXWM16-200R | 511
Housing mounting type with auto switch Plate mounting type with auto switch
CDBXWM16-[Stroke] , CDBXWM16-[Stroke|R CDPXWM?16-[Stroke| , CDPXWM16-[Stroke|R
Auto switch Hw Magnet mounting block Auto switch Hw
5 b
e ] e S &
i : % 1
i E € -
_e & e — - »
12 i J_M_ -E (,L,,f, = g
Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Hs | Ht Auto switch model Hw | Ht Hv
D-A70], D-A80 23 | 125 | 15 D-A701, D-A80 23 15 | 105
D-F70, D-J79, D-J79W, D-F700W, 23 | 125 | 15 D-F70J, D-J79, D-J79W, D-F70IW, 23 15 10
D-F79F, D-F7BA, D-F7TNT ) D-F79F, D-F7BA, D-F7TNT
D-A70H, D-A80H 22 | 125 | 15 D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 | 175 D-A73C, D-A80C 23 | 175 | 175
D-F70V, D-F70WV, D-F7BAV 23 | 125 | 15 D-F70V, D-F7O0WV, D-F7BAV 23 15 14
D-J79C 24 15 | 17.5 D-J79C 24 | 175 | 16
D-F7LF 30 | 125 | 15 Note 2) For 25 stroke, the shock absorber is mounted on a
Note 2) For 25 stroke, the shock absorber is mounted on a single side of the plate. For dimensions of 25 stroke,
single side of the plate. For dimensions of 25 stroke, refer to page 894.
refer to page 894.

893



CXWM series

@16 With End Lock: CXWM16-[25 stroke|R

2 x2x M5 x 0.8 thread depth 10

Max. 184

2 x 2 x 05u7 8%

depth 6
M8 x 10

Adjustment bolt

2xM5x0.8_
Cylinder port

X ® © 2 o]
® =re
b3
2 - ol S ] % e @
3 0[] :gu’) N
= = Y|
N R & ¥
Y . o ©
0! + — T
2xM5x0.8 4 x 94.3 through ]
Hﬁ’;aa%Ta‘?,"gﬁ,eg‘ ! O*S-L—L—-] 4 x @8 counterbore depth 4.5 7.5 5.5
(Cylinderporty Max.6_ 185 2 x M5 x 0.8 plug (M-5P) M8 x 1.0
{Cylinder por) 2 x RB0B05 shock absorber
(Single housing installed)
| ]
[Telpafsel 4 JE
o <] —
i 1o e mm ¢q
of tro.mz Max. 29
2517 0
23 _12 0012 12 2x2x04.3 through
End lock mechanism 0517 "o “ depth 6 /"2 x 2 x 98 counterbore depth 4.5
[en e
@) © P7
f
7 J S E—
A - |/ La
of Kool H oo { o 2§ e =
~| ©|0)| i ? P 0 H—
g
o L E—
s
@ s o €l
\4 x M5 x 0.8
2 x M5 x 0.8 hexagon socket head cap plug \ thread depth 10
(Cylinder port) 9.6 \ 2 positions for set screws for
—i fixing shock absorbers (M4)
o=@ 1]
° €

Housing mounting type with auto switch
CDBXWM16-25, CDBXWM16-25R

Auto switch Magnet mounting block
v e 'g block

Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Hs Ht
D-A701, D-A80 23 | 125 | 15
D-F70, D-J79, D-J79W, D-F700W,
D-F79F, D-F7BA, D-FTNT il Ml B
D-A7C0H, D-A80H 22 | 125 | 15
D-A73C, D-A80C 23 15 | 175
D-F701V, D-F700WV, D-F7BAV 23 | 125 | 15
D-J79C 24 15 | 17.5
D-F7LF 30 [ 125 | 15

Note 2) 2 magnets for auto switches
magnet mounting block.

are equipped to the

894

Plate mounting type with auto switch

CDPXWM16-25, CDPXWM16-25R

Auto switch Hw,
\

e T -5
| b4 )
LB ]
ﬁ & ——
L8 & > 5|
== —ruum— ] =]

Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Ht Hv
D-A70], D-A80 23 15 | 105
D-F70, D-J79, D-J79W, D-F70OW, 23 15 10
D-F79F, D-F7BA, D-F7NT
D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 | 175 | 175
D-F701V, D-F7CWV, D-F7BAV 23 15 14
D-J79C 24 | 175 | 16

Note 2) 2 magnets for auto switches are installed in the

housing.



Slide Unit: Built-in Shock Absorber
Slide Bearing Type

220 Basic Type: CXWM20-Stroke/50 to 200

2 x 2 x 25.2 through

22095 counterbore depth 5

4 x M6 x 1.0 thread depth 9 /

\ 0617'8°" depth 8

N N
Q — -
S
F p£0.05
(zéw h&e p\tchT
B ®
<2 A
P 8|y N
0 0—00—- 6@ B3 2 [ 2
\ \
D\ -—0

\ 4 positions
for set screws for fixing 2 x 2 x M5 x 0.8

shock absorbers

29
275 |

2x2x M6 x 1.0 thread depth 12

2 x2 x o617 8" d

2xM10x 1.0

Adjustment bolt

CXWM series

2 x4 x M5 x 0.8 thread through

From the opposite side
2x4x07.5 counterbore depth 4.5

2 positions for set screws
for fixing adjustment bolt (M5)

|

{Hexaéon socket head cap plug)

15.5
22
20 L 2xM5x0.8
G6HT +3012 Cylinder port
- |/
>
_ S B K I
: @©
+ (}J‘h‘l '**ii\rjl o & piy
2x M4 x 0.7 thread deptn 5 /16| @
I . D o
14 z 14
- £ 4055 through
4 x09.5 counterbore depth 5.5
o
S —
0 I I SE
2 x RB1006-X552 (Shock absorber)
(mm)
Model F L P Q S Ss r4 Y44
CXWM20-50 | 345 | 64 | 35 | 170 | 52 | 104 | 156 | 184
CXWM20-75 | 34.5 | 89 60 | 220 | 77 | 129 | 206 | 234
CXWM20-100| 39.5 | 114 | 75 | 270 | 102 | 154 | 256 | 284
CXWM20-125| 445 | 139 | 90 | 320 | 127 | 179 | 306 | 334
CXWM20-150 | 57 | 164 | 90 | 370 | 152 | 204 | 356 | 384
CXWM20-175| 69.5 | 189 | 90 | 420 | 177 | 229 | 406 | 434
CXWM20-200| 82 | 214 | 90 | 470 | 202 | 254 | 456 | 484

Note) For 25 stroke, the shock absorber is mounted on a single side of the
plate. For dimensions of 25 stroke, refer to page 896.

895



CXWM series
220 Basic Type: CXWM20-[25 stroke]

B B Max.1§777 R
S 120
2 x 2 x 85.2 through ; 79 27
2x2x09.5 counterbore depth 5 27 25+005
(067 hole pitch) <~
Set screw for fixing %
adjustment bolt (M5) o
— @0 .
8 _
—H
o — 00— ¥ al @
8 C ¢ k = | ~ f
6|
- $ P ——) - —
2 positions

M 4 x M6 x 1.0 thread depth 9/ \ 06+7°6""

depth 8

for set screws for fixing

Adjustment bolt

shock absorbers

=20 39 2xM5x0.8
0BH7+g012 Cylinder port
@
o Lot il
R s = ;
N f o f—-
™ e
— Il
2x M4 x 0.7 thread depth 5,/ __|8]__ ©
]
(M6 x 1.0 thread depth 12
p02 e W 1086 14 _Max. 33
27 5 4 x ©5.5 through

1
2x2x06H7 0" thread depth 8

896

4x%09.5 'countevbore depth 5.5

o

[

X3

I
—%
[T

.

2 x RB1006 (Shock absorber)

M10 x 1.0 (Single housing installed)

62
il
-
I

2x2xM5x0.8

(Hexagon socket head caﬁ)lug)

iiP

15.5

2 x4 x M5 x 0.8 thread through
From the opposite side

2x4x07.5 counterbore depth 4.5



Slide Unit: Built-in Shock Absorber
Slide Bearing Type

CXWM series

220 With End Lock: CXWM20-|Stroke/50 to 200|R

2x2xMs x 1.0 thread depth 8

. 2 x 2 x0617'3%"2 depth 8
7 55T
o o
s R
———t 0
] i

4 x M5 x 0.8 thread through
From opposite side
4x07.5 counterbore depth 4.5

2 positions for set screws
for fixing adjustment bolt (M5)

211 depth 21

(An adjustment bolt M10 x 1.0x 14 L
fo the plate port)

5
8 I == A1 Nl HQ ] olg
7\ * oyl
y -

u w0 ‘ —
P h1 4 x ©5.5 through { 2xM10x 1.0 2xM5x0.8
Ly 14 x09.5 counterbore depth 5.5 \ Adjustment bolt 11 (Cylinder port)

6 14 -
5 x 0.8 hexagon socket head cap plug 155

(Cyllnder port)

2xM5x0.8
Hexagon socket head cap plug

2 x 2 x ©5.2 through

. 2'x 2 x ©9.5 counterbore depth 5,/
End lock mechanism 21 14 z 14
l_F___P005  4xMgx10iead deph9
(0617 hole pitch)
S 5
—] @ o
s I ——
e
8|l o P 00 00 6Ly °
/ e
$ . — .
I =
;‘ngz't“;’g‘fews o £ /aew‘ﬂ“dep«hs \2xRE1006— X552
shock absorbers 2 3o Shock absorber
8+ (mm)
85 6 = Model F L P[] a s [ss| z [zz
o ° CXWM20-50R | 345 | 64 | 35 | 170 | 62 | 104 | 156 | 205
I CXWM20-75R 345 89 60 220 77 129 206 255
— Lo ; CXWM20-100R| 39.5 | 114 | 75 | 270 | 102 | 154 | 256 | 305
P CXWM20-125R| 445 | 139 | 90 | 320 | 127 | 179 | 306 | 355
o Mﬂa@‘{”j"c_‘@"?adﬂapp'“g CXWM20-150R| 57 | 164 | 90 | 370 | 152 | 204 | 356 | 405
(Cylinder port) CXWM20-175R| 695 | 189 | 90 | 420 | 177 | 229 | 406 | 455
CXWM20-200R| 82 | 214 | 90 | 470 | 202 | 254 | 456 | 505

Housing mounting type with auto switch

CDBXWM20-[Stroke|, CDBXWM20-[Stroke|R

Auto switch

Magnet mounting block

Auto switch

M

hd

1
Note 1) The dimensions show D-A7 and D-A8. (mm)

vy
¢

st

—

|
Ml =

Plate mounting type with auto switch

CDPXWM20-[Stroke], CDPXWM20 -[Stroke|R

Note 1) The dimensions show D-A7 and D-A8. (mm)

Auto switch model Hw | Hs Ht Auto switch model Hw | Ht Hv
D-A70], D-A80 23 | 125 | 15 D-A70], D-A80 23 15 | 105
D-F70J, D-J79, D-J79W, D-F7OW,| L0 | 105 | 15 D-F70, D-J79, D-J79W, D-F70W,| o | 15 | 10
D-F79F, D-F7BA, D-F7NT D-F79F, D-F7BA, D-F7NT
D-A70H, D-A80H 22 | 125 | 15 D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 | 175 D-A73C, D-A80C 23 | 175 | 175
D-F701V, D-F70WV, D-F7BAV 23 | 125 | 15 D-F701V, D-F70WV, D-F7BAV 23 15 14
D-J79C 24 | 15 | 175 D-J79C 24 [175 | 16
D-F7LF 30 | 125 | 15 Note 2) For 25 stroke, the shock absorber is mounted on

Note 2) For 25 stroke, the shock absorber is mounted on
a single side of the plate. For dimensions of 25

stroke, refer to page 898.

a single side of the plate. For dimensions of 25
stroke, refer to page 898.

897



CXWM series

@20 With End Lock: CXWM20-[25 stroke|R

. Max. 167
120
M10x 1.0 75 57 4xM5x0.8 lh_read _lhrough
55 17 [From opposite side
27 ) 0012 4x07.5 counterbore depth 4.5
Shock absorber 2x2x06H 0" depth 8
/ 1°
b
1| 3 N
3 = | 1 —+——by Tt =yl &
8 - |9 o8 RIS I
_I__ RN B N}
|
f =k
| i) I"J‘f =
] 6 AL 14 46 \\4 x ©5.5 through M10x 1.0
o 4x09.5 counterbore depth 55 | Adjustment bolt Cylinder port
2 x M5 x 0.8 hexagon socket head cap plug
" | 2x2x M6 x 1.0 thread depth 12 15.5
(Cylinder port) -

2xM5x0.8

Hexagon socket head cap plug

End lock mechanism Max. 12 21 14

I
L On IVEEIR==
IR

2 x 2 x ©5.2 through

ﬂ,

2 x 2 x 9.5 counterbore
106

depth 5
14

27, 250.06 ; 4xM6x1.0thread depth 9
(@6H7 hole pitch)

1l

. o ———
1 a ===
| e R
8 Esrj{g— o B qa—e o »
| S
PN — \
< \
£
g . \
o APOS"L\ \  \2xRB1006-X552
So | forset screws forfixingy Shock absorber
85 5 & | shock absorbers jﬁﬁo_u

te

75

13

2 x M5 x 0.8 hexagon socket head cap plug

(Cylinder port)

Housing mounting type

with auto switch

CDBXWM20-25, CDBXWM20-25R

Auto switch
E— HW

Magnet mounting block

VA

wk ol
: % |

L

[ )

%
¢

Note 1) The dimensions show D-A7 and D-A8. (mm)

Auto switch model Hw | Hs Ht
D-A70], D-A80 23 125 15
D-F70J, D-J79, D-J79W, D-F700W,

D-F79F, D-F7BA, D-F7NT L2 |88 ®
D-A70H, D-A80H 22 | 125 | 15
D-A73C, D-A80C 23 | 15 | 175
D-F701V, D-F7C0WV, D-F7BAV 23 125 15
D-J79C 24 15 | 17.5
D-F7LF 30 [125] 15

Note 2) 2 magnets for auto switches are equipped to
the magnet mounting block.

898

depth 8

Plate mounting type with auto switch
CDPXWM20-25, CDPXWM20-25R

Auto switch HW - Ht
z
- -&|
+——F 0O
s =2 o
—1 0O

Note 1) The dimensions show D-A7 and D-A8. (mm)

Auto switch model Hw | Ht Hv
D-A70], D-A80 23 15 | 105
D-F70J, D-J79, D-J79W, D-F7TOW, | »3 | 15 | 10
D-F79F, D-F7BA, D-F7NT
D-A700H, D-A80H 22 15 9
D-A73C, D-A80C 23 | 175 | 175
D-F701V, D-F70JWV, D-F7BAV 23 15 14
D-J79C 24 [ 175 | 16

Note 2) 2 magnets for auto switches are installed in

the housing.

1.5




Slide Unit: Built-in Shock Absorber .
Slide Bearing Type CXWM Series

225 Basic Type: CXWM25-|Stroke/50 to 200

2 x 2 x 95.2 through . Max. ZZ
2x2x09.5 counterbore depth 5 Q
— —
| S8 S
| F . P+0.05
—Eﬂﬁm hole pitch)

QL ERE [
Mo =]

8
S 1
v I~
5 & &= 5g s 8 | -
| L e B |
| L gl i
5 |5 r— —1 3
@ | \ |8 @
@—*’ >¢ \"¥* &I A
@ ©
1 .
4% M6 x 1.0 thread depth 12 \ 067'8"" depth 8 4 positions for set screws 2x2xRc 1/8 [ ]
— for fixing shock absorbers (M5) Plug (R 1/8) | Iy
205 L
06H7 87" 2xRc 1/8
| Cylinder port
? © T ’_
39 © | é . — 0}
{ | © N |
1 L |
2x2xM6x 1.0 thread depth 12 16 o Z 16 Max. 6
I Y —
2x2x 26H7:8 Oﬁ%p‘h 8 | F P , 4 x 95.5 through
| 4 x09.5 counterbore depth 5.5 |
) 5 ] é_
2xM10x 1.0
Y Adjustment bolt
, ) _E I~ .
| e & N
\_ 2x RB1006-X552
Shock absorber
(mm)
Model F L P Q S SS 4 zz
CXWM25-50 31 66 45 175 52 107 159 203

CXWM25-75 335 91 65 225 77 132 | 209 | 253
CXWM25-100 | 335 | 116 | 90 | 275 | 102 | 157 | 259 | 303
CXWM25-125 46 141 90 | 325 | 127 | 182 | 309 | 353
CXWM25-150 | 585 | 166 | 90 | 375 | 152 | 207 | 359 | 403
CXWM25-175 71 191 90 425 177 | 232 | 409 | 453
CXWM25-200 | 835 | 216 90 | 475 | 202 | 257 | 459 | 503

Note) For 25 stroke, the shock absorber is mounted on a plate.
For dimensions of 25 stroke, refer to page 900.

899



CXWM series

225 Basic Type: CXWM25-[25 stroke]

Max. 203
125
2 x 2 x 25.2 through
2x2x09.5 82 27
counterbore depth 5 285 25 £0.05
(e6H7 hole pitch)
<+
[V I B
9 56 - [ r
A == @
5 . e E 5 2 @)
o ) AN ~ - © @
(== —E ©
>\ O3
N e N
4 x M6 x 1.0 thread depth 12 \ ﬂSm’g'mzdeplh 8 2x2xRc1/8 ‘1_0’
Plug (R 1/8) 1.3
19.5 43
oBr7 T2 2xRc1/8
@ Cylinder port
< @)
@8 &
&
2 x 2 x M6 x 1.0 thread depth 12 16 109 18
+0.012
2x2x06H7 0" depth 8 28.5 25 4 x 95.5 through ‘
/ 4X09.5 counterbore depth 5.5
—
) N
£/ W 2xM10x1.0
T B E— Shock absorber
=}
s | §
@ co‘ 3 — - kq— =
|

900

Max. 31
f—



Slide Unit: Built-in Shock Absorber

Slide Bearing Type

225 With End Lock: CXWM25-|Stroke/50 to 200 R

2 x2x M6 x 1.0 thread depth 12

0012

Max. ZZ

35

o %o

10,

(2]

2x2x06H70" - depth 8
2xM10x1.0
Adjustment bolt
% - : g
o % [ wrapy §
S [ é b
4 [N - 3 e g
! I ' o
2xRc1/8 51 4 x 5.5 through 2xRc 1/8
7.5 13 Plug (R 1/8) 4x09.5 counterbore depth 5.5 Cylinder port
(Cylinder port) 2xRc1/8

Plug (R1/8)  Max.8
(Cylinder port)

2 x 2 x 5.2 through

CXWM series

i & ge |
3|6 5 < S-—
& Eh e
<+t !
BGH;%DQ
+0012 16
End lock mechanism 23 1 06H7"0" " depth 8
16 2 x RB1006-X552 ~ -—.1
: T1Shock absorber

ol @ L / 6

8 / = 164
& o 11 @

| s~ > Py ren [ NN B
%| oS 1 hd M 0 B
=

? go %A —_——— @_ I

ofd =& % ©
\4x M6 x 1.0 thread depth 12 \ 4 positions for set screws
2xRc1/8 135 for fixing shock absorbers (M5)
! j
!

Housing mounting type with auto switch

CDBXWM25-[Stroke|, CDBXWM25-[Stroke] R

Magnet mounting block

‘Auto switch Hw.

Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Hs Ht
D-A70], D-A80 23 12.5 15
D-F70, D-J79, D-J79W, D-F70IW,
D-F79F, D-F7BA, D-FNT | ies |
D-A7CH, D-A80H 22 125 15
D-A73C, D-A80C 23 15 17.5
D-F701V, D-F700WV, D-F7BAV 23 12.5 15
D-J79C 24 15 17.5
D-F7LF 30 12.5 15

Note 2) For 25 stroke, the shock absorber is mounted on a
single side of the plate. For dimensions of 25 stroke,

refer to page 902.

2 x 2 x©9.5 counterbore depth 5

(mm)

Model Y44
CXWM25-50R 226
CXWM25-75R 276
CXWM25-100R | 326
CXWM25-125R | 376
CXWM25-150R | 426
CXWM25-175R | 476
CXWM25-200R | 526

Plate mounting type with auto switch

CDPXWM25-[Stroke |, CDPXWM25-[Stroke| R

Auto switch

v
[
n__

Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Ht Hv
D-A70, D-A80 23 15 | 105
D-F70, D-J79, D-J79W, D-F700W, 23 15 10
D-F79F, D-F7BA, D-F7NT
D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 | 175 | 175
D-F701V, D-F7CJWV, D-F7BAV 23 15 14
D-J79C 24 175 16

Note 2) For 25 stroke, the shock absorber is mounted on a
single side of the plate. For dimensions of 25 stroke,

refer to page 902.

901



CXWM series

225 With End Lock: CXWM25-[25 stroke|R

2 x2x M6 x 1.0 thread depth 12

Max. 201
2x2x061°3%"?depth 8 Fo
2xM10x1.0
Adjustment bolt
APy
&
o 3 B &
9 A _ NolBede B—p .@E\f 9
o 0 $ : ? =
o — N
| 2xRc1/8_ 51 4x 05.5 through 2xRc 1/8 108
7.5 13 Plug (R 1/8 4x09.5 counterbore depth 55 Cylinder port
(Cylinder port)
2xRc 1/8
Max.g_ 19.5 Plug (R 1/8 2 x RB1006 shock absorber
(Cylinder port) (Single housing installed)
¥ J ]
' % G L]
<foof
067 37?
23_16 109 16 2 x 2 x ¢5.2 through
End lock mechanism 06173012 depth 8 2 x 2 x ©9.5 counterbore depth 5
R i —. B
| i
L S ==
@ vlrx i PRE =N ™|
| = _ Fy ]
8 35 f $To08 & =1
| o5 et
l o % & 9]
2 positions for set screws / \4 x M6 x 1.0 thread depth 12
for fixing shock absorbers (M5)
2xRc 1/8
Plug (R1/8) "\ 135
(Cylinder port) ’-'
© + J
]
O
«©
Housing mounting type with auto switch Plate mounting type with auto switch
CDBXWM25-25, CDBXWM25-25R CDPXWM25-25, CDPXWM25-25R
Auto switch Hw Magnet mounting block Auto switch Hw
unting block :

[ ‘-9 O —® &
e 7 &
| I/‘ i

: &

| hd
Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The dimensions show D-A7 and D-A8. (mm)

Auto switch model Hw | Hs | Ht Auto switch model Hw | Ht | Hv

D-A70, D-A80 23 | 125 | 15 D-A70, D-A80 23 15 | 105
D-F70, D-J79, D-J79W, D-F700W, D-F70, D-J79, D-J79W, D-F700W,
D-F79F, D-F7BA, D-F7NT B 125 18 D-F79F, D-F7BA, D-F7NT T
D-A70H, D-A80H 22 | 125 | 15 D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 | 175 D-A73C, D-A80C 23 | 175 | 175
D-F70V, D-F7O0WV, D-F7BAV 23 | 125 | 15 D-F701V, D-F7O0WYV, D-F7BAV 23 15 14
D-J79C 24 15 17.5 D-J79C 24 17.5 16
D-F7LF 30 | 125 | 15 Note 2) 2 magnets for auto switches are installed in the
Note 2) 2 magnets for auto switches are equipped to the housing.

magnet mounting block.

902



Slide Unit: Built-in Shock Absorber
Slide Bearing Type

232 Basic Type: CXWM32-Stroke/75 to 200

CXWM series

2 x 2 x ©6.9 through ZZ ; 2xM14x1.5
2x2x011 depth 6.5\ l— ] Q [ Adjustment bolt
\ Ss ~ S [
38 p1ogs i 245 75
(287 hole pitch) | 2 positions for set screws 2 x4 x M6 x 1.0 thread through
\ i for fixing adjustment bolts (M6) _/From the opposite side
; 2 x4 x09.5 counterbore depth 5.4
S —— o (@] I
S ,
* +‘lg]+ Tl L E— i o=
It S = ~o 0| L =
Q I iwvz‘ 32 é =1 8 +@*+ !
; \ e \ oot
o 1\ E L o
\ S \
L — |
@ pi——=0 ol |
/ \ 4 positions / ‘
4 x M8 x 1.25 thread depth 15 \uam'g‘“s depth 12 for set screws for fixing 2x2xRc1/8 / |15
shock absorbers (M5) Plug (R 1/8) / 0.5
28 L 2xRc1/8
| | 087 0 [Cylinder port
| /
| ‘ . / 9
T ! N' -
. 0 ITe}
\ E -~ A o} 4
ol e é’} P +
g ! T o] -
1 [
T w
[
2 x M6 x 1.0 thread depth 7/ | |10
2x2xM8x1.25 thread depth 15 20 o Z 20
2 x 2 x 08r7'8°" depth 12 38 P 4 x 6.9 through
| /4x @11 counterbore depth 7
\ /
y -
T a— S
S 7 ‘ h:S
5 } |
S i Q
©| 84 | L =8 le—1
223 i i w2 \d
" , \ -
\ | N W R—
! N | T &
\
< S .
2 x RB1411-X552 shock absorber |
(mm)
Model L P Q S SS Z Y24
CXWM32-75 90 70 243 77 146 223 263
CXWM32-100 | 115 95 293 102 171 273 313
CXWM32-125 | 140 120 343 127 196 323 363
CXWM32-150 | 165 145 393 152 221 373 413
CXWM32-175 | 190 170 443 177 246 423 463
CXWM32-200 | 215 195 | 493 | 202 271 473 513

Note) For 25 and 50 strokes, the shock absorber is mounted on a single
side of the plate. For dimensions of 25 and 50 strokes, refer to page

904.

903



CXWM series

232 Basic Type: CX

WM32-(Stroke/25, 50

2 x 2 x06.9 through

7z Max. 48 2 x RB1411 shock absorber
2x2x 011 counterbore depth 6.5\ ._ Q ) /M14 x15
| SS S [ (Single housing installed)
2 positions for set screws F P+005 T 24.5 75
for fixing shock absorbers (M5) | (28+7 hole pitch) 2 x4 x M6 x 1.0 thread through
| \ | / From the opposite side
M14x15 @ 2x4x09.5 counterbore depth 5.4
Adjustment bolt $ Y
T T DL
I - D
& * S0 e )
" - [te) =
HE)x 8 @ ‘-.- 3 YZ—H ,8-2 =i F o 2 } ml
o7 ) 3 Vo
; N & ®
@ AN ] hd
g
©) 51" &
/1 position for set screw 4 x M8 x 1.25 thread depth 15 / \Z8H7‘8‘m5 depth 12 2x2xRc1/8 ‘ l_
for fixing adjustment bolt (M6) Plug (R 1/8) 20.5
G L 2xRc1/8
08y 2" Cylinder port
wQ
=]
imd .
5] - 10 |
0 + .@.:}"‘H 1+
wor 0| ﬁ” R—n
3 a —T
e
2 x M6 x 1.0 thread depth 7 / 10
2x2xM8x 1.25 thread depth 15 20 z 20
2x2 X 0817'8°" depth 12 F P 4x06.9 through l
| / 4 x 011 counterbore depth 7
—3 3
I =
5|
(o]
283 - ==
(mm)
Model F L P Q S SS G 4 zz
CXWM32-25 37 41 22 143 27 96 27.5 123 163
CXWM32-50 38 65 45 193 52 121 28 173 213

904




Slide Unit: Built-in Shock Absorber .
Slide Bearing Type CXWM Series

Stroke/75 to 200|R

Q T T 2xMmuaxis

ustment bolt
| / 7.5 245

232 With End Lock: CXWM32

2x 2 x M8 x 1.25 thread depth 15
2x 2 x 0817 "3 depth 12
015 depth 28.5

With an adjustment bolt | |/ 2postionsforsetsrems. " 4x M6 x 1.0 thread through
/ M14 x 1.5 x 20L to the plate) | | | / forfixing adjustment bolts (M6) e opposite side
j . W——:—[ / T / 4xass counterbore depth 5.4
I — /
& 1 I p—
b 1 ! / 5[ ‘
| == 3 T
8 =8z o &8 =
= @ |
i p— | ‘
wf ™ 0| & 1
oy ’\J:. —1 Lo~ ]
[ | 4 x 06.9 through 1
1, 15\ 2xRci1/8 -85 |4 x @11 counterbore depth 7 15 | ;| | 2x2xRc1/8
- Plug (R 1/8) 2051 | Cylinder port
(Cylinder port)
2xRc1/8
28 L /[ Plug (R 1/8)
T [ (Cylinder port)
| 1/
Tobiof ] N
=l @) I —
Rn& o (@e - éi t Fa
o8u7 8% } ! 2
2 x RB1411-X552 shock absorber
End lock mechanism z / 20 2 x 2 x 96.9 through
\ 7 te
> / \
2xRc1/8 4 x M8 x 1.25 thread depth 15/ \ 4 positions for set screws
Plug (R 1/8) +0.015 \for fixing shock absorbers (M5)
(Cylinder port) 145 98 0 "depth 12 (mm)
0 I Model L P Q S Ss 4 zz
= . CXWM32-75R | 90 70 | 243 | 77 | 146 | 223 | 263
i \ CXWM32-100R| 115 95 293 102 171 273 313
CXWM32-125R | 140 120 343 127 196 323 363
= CXWM32-150R| 165 | 145 | 393 | 152 | 221 | 373 | 413
CXWM32-175R| 190 | 170 | 443 | 177 | 246 | 423 | 463
CXWM32-200R | 215 195 493 202 271 473 513
Housing mounting type with auto switch Plate mounting type with auto switch
CDBXWM32-[Stroke|, CDBXWM32- Stroke|R CDPXWM32-[Stroke|, CDPXWM32-[Stroke |R
Auto switch Magnet mounting block Auto switch Hw

% e T

‘ L 5

'
e LT[ "o4

Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Hs Ht Auto switch model Hw | Ht Hv
D-A70], D-A80 23 [ 125 | 15 D-A701, D-A80 23 | 15 | 105
D-F70, D-J79,D-J79W, D-F7TOW, | . | .| o D-F70,, D-J79, D-J79W, D-F70W, | . | o |
D-F79F, D-F7BA, D-F7NT : D-F79F, D-F7BA, D-F7NT
D-A7(CH, D-A80H 22 | 125 [ 15 D-A7CH, D-A80H 22 15 9
D-A73C, D-A80C 23 | 15 | 175 D-A73C, D-A80C 23 [ 175 | 175
D-F701V, D-F7CJWV, D-F7BAV | 23 | 125 | 15 D-F701V, D-F7CJWV, D-F7BAV | 23 15 14
D-J79C 24 | 15 | 175 D-J79C 24 [175] 16
D-F7LF 0 [ 125 ] 15 Note 2) For 25 and 50 stroke, the shock absorber is
Note 2) For 25 and 50 stroke, the shock absorber is mounted on a single side of the plate. For
mounted on a single side of the plate. For dimensions of 25 and 50 strokes, refer to
dimensions of 25 and 50 strokes, refer to page 906.
page 906.

905



CXWM series

232 With End Lock: CXWM32-Stroke/25, 50/R

Max.19.5 285 yo4
2 x 2 x M8 x 1.25 thread depth 15 Q M14 x1.5
0015 N I~ SS S [Adjustment bolt
2x2x08470  depth 12 } N CF P 75 . 24.5
~ 1 position for set screw 4 x M6 x 1.0 thread through
Mi14x1.5 ‘ | for fixing adjustmemm\ I From the opposite side
RB1411 3 - sl T 4095 counterbore depth 5.4
Shock absorber : T /
1 | /
1 [ g
& ) e
8 |4 4 e s 5
. Il 3
wof N 0 " | | g
a L ~ S - I
l | \fxae.sthrough |
11, 15 2xRc 1/8 65 4 x 611 counterbore depth 7 15 2xRc 1/8
Plug (R 1/8) 20.5 \ Cylinder port
(Cylinder port)
2xRc1/8
G L [Plug (R1/8)
| T | (Cylinder port)
T ‘ \ F
0} }
oL x ol
SCE O R A==l
087+ go1s ﬁT 2
RB1411-X552 shock absorber
End lock mechanism 20 4 20 2x2x06.9 througl
F P+005 / /2 x2 x 211 counterbore depth 6.5

ot
(087 hole pitch)
1

Q

&
i
|

1255

ind Ay
- +4—¢

\

Bt ed

\
\ 2 positions for set screws

2xRc1/8 4x M8 x1.25 thread depth 15/
Plug (R1/8 08173 " depth 12 for fixing shock absorbers (M5
(Cylinder port 5
0 (mm)
= Model F L P Q S |[SS | G z | zz
CXWM32-25R | 37 | 41 22 | 143 | 27 | 96 | 275 | 123 | 163
1 CXWM32-50R | 38 65 45 | 193 | 52 | 121 28 | 173 | 218
Housing mounting type with auto switch Plate mounting type with auto switch
CDBXWM32-25/50, CDBXWM32-25R/50R CDPXWM32-25/50, CDPXWM32-25R/50R
Auto switch Magnet mounting block
Hw Auto switch _HW, o Ht
5/ _ W BT
T % C 3 EE

g %*

Note 1) The dimensions show D-A7 and D-A8. (mm)

Auto switch model Hw | Hs Ht
D-A70, D-A80 2 | 125 | 15
D-F700, D-J79, D-J79W, D-F7CIW,
D-F79F, D-F7BA, D-FINT B @SB
D-A700H, D-A80H = [ 125 | 5
D-A73C, D-AB0C 2 | 15 | 175
D-F70V, D-F7T0WV, D-F7BAV 2 | 125 | 15
D-J79C 24 15 175
D-F7LF 3 | 125 | 15

Note 2) For 25 stroke, 2 magnets for auto switches
are equipped to the magnet mounting block.

906

Note 1) The dimensions show D-A7 and D-A8. (mm)

Auto switch model

D-A70], D-A80

D-F70J, D-J79, D-J79W, D-F70IW,

D-F79F, D-F7BA, D-F7NT

D-A70H, D-A80H

D-A73C, D-A80C

D-F701V, D-F7O0WV, D-F7BAV

D-J79C

Hw | Ht Hv
23 15 [ 105
23 15 10
22 15 9
23 17.5 | 17.5
23 15 14
24 17.5 16

Note 2) For 25 stroke, 2 magnets for auto switches
are installed in the housing.



Slide Unit: Built-in Shock Absorber
Ball Bushing Bearing Type

CXWL series

210, 216, 020, 25, 32

How to Order

Port thread type
o M thread| 910 to 220
Rc 1/8

cxwy[f8] J-{fgal -] it
|
[P c[pBlxwi[is] |—[i50][ ]—[37ow| -

Cylinder with auto switch 1 Made to Order

p—— " * Refer to page 908 for the
Symbol | Specifications/Mounting Made topOrgder specifications.
With auto switch/ N
DB Housing mounting l Bearing type Number of auto switches
i i Nil 2 pes.
DP With auto switch/ Ball bushing bearing P
Plate mounting S 1 pe.
n “n” pes.
Bore size/Stroke (mm)
210 | 25,50, 75, 100 )
216 | 25,50, 75, 100, 125, 150, 175, 200 Auto switch
220 | 25,50, 75, 100, 125, 150, 175, 200 ‘ Nil ‘ Without auto switch (Built-in magnet) ‘
025 | 25,50, 75, 100, 125, 150, 175, 200 * fo;hmet z:ﬁplgze:ble auto switch model, refer
0 the table below.
232 | (25), 50,75, 100, 125, 150, 175, 200 * Auto switches are shipped together, (but
Note 1) For (25) stroke, the shock absorber is mounted not assembled).
on a single side of the plate.
Note 2) For the strokes other than those indicated above, End lock
refer to the stroke table on page 908. -
Note 3) For 016, 620 and 925, strokes up to 275, and ‘ Nil ‘ None ‘
for @32, strokes up to 225 are available as ‘ R ‘ End lock ‘

Made-to-Order. (-XB11)

Applicable Auto Switches/Refer to pages 1289 to 1383 for further information on auto switches.

S =S Wiring Load voltage Rail mounting Applicable cylinder size | Lead wire length (m)* Pre-wirded| Applicable
i M ectrical 0 a
psfiispeciiincon entry (Output) DC AC Perpendicular | - In-line :g::g:% m;lji:ig (")\"ﬁ) (i) (g) ’\2?\;‘)9 connector load
= 3-wire (NPN) F7NV | F79 ® 0 O - O .
£ B Grommet | | 3-wire (PNP) 5v,12v F7PV | F7P ® 00 G| lCdout
a owie 12V Fiev [ 979 | | o10 @@ O0[-] O B
5 Connector| J79C - 55 o6 @ |©®® @ - Rela
& — $ [wire (NPN)| 24V - [FNwv[Frow | g5 | 020 [@[@[O[-[ O | I
£ Dl??ii'!f&ﬁ.‘i’.—f?é’.‘f" 3-wire (PNP) sV 12v — [FIPW| oa | °5 [@ @O - O |°
o Grommet ) F7BWV| J79W °%2 "9 [@|O|-| O
g Water esistant (2ol indicaoy 2-wire 2v F7BAV***|[F7BA*** - @0 - O -
Wi darost oo (4ol o 4-wire (NPN) 5V,12V - F79F @0 O - O ICircuit
w” 3nire (NPN equivalent) | — 5V - = A76H o0 - - - IC circuit| —
< $ - - | 200v [ A72 [ A72H | 416 | °10 @ [@] -] -
-‘g Grommet U 12V | 100V | A73 | A73H | 020 g;g e |- - - o
2 2| 2wre | . [5V.12V[i0Volkss| ABO | ABOH | 025 | oo [ @ [@]-[-| - licaau|s’2
3 - Connector 2] 12V - A73C = 932 | o [0 |00 e = =
3 2 5V,12 V|24V orless| AB0C — ® 00 e - 1C cicui
2 2 ire (NPN equivalent) | — 5V - E76A o0 - - - -
Grommet ; 2-wire 24V 12V | 100V - E73A 210 - o0 - - - il Relay,
2 5V, 12 V{100V orless E80A o0 - - - IC circuit| PLC
«#+ Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Consult with SMC regarding water resistant types with the above model numbers.

# Lead wire length symbols: 0.5 m - Nil  (Example) F79W + Solid state auto switches marked with “(O” are produced upon receipt of order.
3m - L (Example) F79WL «+ |t is impossible to mount solid state switches to the housing mounting ¢10.
5m- 4 (Example) F79WZ

None - N (Example) J79CW

« Since there are other applicable auto switches than listed, refer to page 925 for details.
« For details about auto switches with pre-wired connector, refer to pages 1358 and 1359.

907




CXWL series

Specifications

A Type Non-lube
Built-in shock absorber — .
This is built-in shock absorber type in ul r
which the shock absorber is enclosed in Proof pressure 1.5 MPa
the housing. Max. operating pressure 1.0 MPa
pramatlgally reduced Min. operating | CXWL10/16 0.15 MPa
installation labor pressure CXWL20/25/32 0.10 MPa
The”m.aCh'n'ng premsllon req”'red for Ambient & fluid temperature —10 to 60°C (No freezing)
positioning during the installation of the Pist 4 (Non-lub y
cylinder has been reduced through the 'ston spee (Non-lube) 30 10 500 mm/s
adoption of a special pin hole machining Cushion Shock absorber
process, thus decreasing the amount of Stroke adjustable range Standard stroke: £2 mm
labor involved in adjustment. Accessory (Option) Straight knock pin (2 pes.), Adjusting bolt* (-X138)

High-precision ball bushing
The bearings made of ball bushings
decrease the rise in starting pressure that Maximum Load Weight/Non-rotating Accuracy/Maximum Holding Force

# “-X138” has a stroke adjustable range of —12.5 mm on one side.

could be caused by a load imbalance. Model CXWL10 | CXWL16 | CXWL20 | CXWL25 | CXWL32
This also enables smooth operation by -
ensuring stable travel resistance. Max. movable weight () 1kg 4kg Skg 7kg 10 kg
Provided with an end lock Non-rotating accuracy

. Deflection of a pist +0.09° +0.03° +0.03° +0.02° +0.01°
mechanism (Refecton o2 )
An end lock is also available, which -
maintains the cylinder’s original position Max. holding force 392N 081N 1474 N 2452 N 302.3 N
even if the air supply is interrupted. (End lock model ) ’ ’ ’ ’ ’

Note 1) Place the center of gravity of the load and center of the slide unit close during operation. If they
are placed far apart from each other, please consult with SMC.
Note 2) The factors are obtained under the conditions of a 25 strokes plate is pushed out.

Shock Absorber Specifications

Shock absorber () RB0805-X552 RB1006-X552 FER e
Applicable slide unit CXWL10/16-00 CXWL20/25-001 CXWL32-00
Maximum energy absorption (J) 0.98 3.92 14.7
Stroke absorption (mm) 5 6 11
Max. collision speed (m/sec) 0.05t05
Max. operating frequency (cycle/min) @ 80 70 45
E Max. allowable thrust (N) 147 353 667
Symbol Ambient temperature range (°C) —10to 80
Without cushion ) Extended 1.96 4.22 6.86
Spring force (N)
Retracted 3.83 6.18 15.30
Weight (g) 15 25 65
10 Note 1) “-X552” is an exclusive shock absorber installed in the housing, and is the screw not attached
Mat el e specification of the outer part of the outer tube. “CXWL32-25" is mounted on a single side of
order | Made to Qrder- Individual Specifications the plate and of the screw attached specification.
(For details, refer to pages 927 to 929.) Note 2) It denotes the values at the maximum energy absorption per one cycle. Therefore, the
Syl Specificai operating frequency can be increased according to the energy absorption.
YOO, pecitications) # The shock absorber service life is different from that of the cylinder depending on the operating
-X138 | Adjustable stroke conditions. Refer to the RB series Specific Product Precautions for the replacement period.
-X146 | Hollow piston rod .
-X168 | Helical insert thread Theoretical Output N)
-X169 | 2 built-in magnets Model Rod size |Piston area Operating pressure (MPa)
g - 2
Made to Order Specifications ()|l i) |02 || 86 | 06 || 05 1L 06 || 67 L03 || 08
Click here for details CXWL10-00 6 101 20 30 40 51 61 71 81 91
Symbol Specifications CXWL16-00 | 10 245 | 49 | 74 | 98 | 123 | 147 | 172 | 196 | 221
XB11 | Long stroke type CXWL20-00 | 12 402 | 80 | 121 | 161 | 201 | 241 | 281 | 322 | 362
XB13 | Low speed cylinder (5 to 50 mms) CXWL25-00 | 14 597 | 119 | 179 | 239 | 299 | 358 | 418 | 478 | 537
-XC22 | Fluororubber seal CXWL32-00 | 20 980 | 196 | 294 | 392 | 490 | 588 | 686 | 784 | 882
Note) Theoretical output (N) = Pressure (MPa) x Piston area (mm?)
:\:"‘Jism'l‘?r b » Standard Stroke
|D°£ggrieg e Model Standard stroke (mm)
Wh . at l'th I diamet 25 50 75 100 125 150 175 200
en operating an actuator with a small diameter o — — — —
and a short stroke at a high frequency, the dew CXW 10l ° L L °
condensation (water droplet) may occur inside the CXWL16-00 L] L] L] L] L L] L] L]
piping depending on the conditions. CXWL20-00 [ [ ] [ ] [ ] [ [ ] [ ] [
Simply connecting the moisture control tube to the CXWL25-000 [ ] [ ] [ ) [ [ J [ ) [ ] [
actuator will prevent dew condensation from oc- CXWL32-000] (%) ® ® o ) o o o
curring. For details, refer to the Web Catalog. .

Note) The strokes marked with “(x

" has an absorber of single side plate mounting type.

® 908


https://www.smcworld.com/content/en-jp/products/custom/index.html
https://www.smcworld.com/webcatalog/en-jp/seriesList/?id=IDK-E

Slide Unit: Built-in Shock Absorber .
Ball Bushing Bearing Type CXWL Series

Weight (kg)

Stroke (mm)
Model
25 50 75 100 125 150 175 200
CXWL10 0.33 0.40 0.46 0.53 - - - -
CXWL16 0.72 0.85 0.98 1.1 1.23 1.36 1.49 1.62
CXWL20 1.0 1.18 1.35 1.53 1.71 1.89 2.06 224
CXWL25 1.32 1.54 1.76 1.97 2.19 243 2.63 2.86
CXWL32 2.56 2.96 3.37 3.75 4.19 4.56 4.98 5.39
Additional Weight with End Lock (CXWL-R) (kg)
Applicable model Additional weight
CXwWL10 0.08
CXWL16 0.14
CXWL20 0.15
CXWL25 0.20
CXWL32 0.43
Accessory
Operating Direction with Different Pressure Ports Straight Knock Pin (Option)
Operating direction of housing when the With end lock (CXWL-CIR)
plate is fixed Operating direction of housing when the g§
plate is fixed ¢S
o 8 A
. | | b °©
o o F= e =
Hill i -,
gt o o= == ,

Standard side of housing

(Mounting side) Standard side of housing L
Mounting side)
=€ o (mm)
I

]

/ /} 777 I /7 i’ / %\\'\ AN Model L oD Model*
. CXWL10 10 4 MS4-10
Operating direction of the housing Operating direction of the housing CXWETS L MS5-10
CXWL20 15 6 MS6-15
‘Pressureport ‘A‘B‘C‘D‘E‘F‘ ‘Pressureport ‘A‘B‘C‘D‘E‘F‘G‘H‘ CXWL25 15 6 MS6-15
Operating direction [figni|Lef | Left[ighf LeftRign Operating direction |gh]Le]Left g gt efef gt CXWL32 20 8 MS8-20

 There are 9 possible reciprocating piping methods. = There are 16 possible reciprocating piping methods. * Manufactured by Misumi Trading Ltd.

Deflection of Piston Rod by Center Loading (Reference)

When center loading is added to the center ~ When center loading is added to the center

of the housing of the plate
Deflection width
(mm)
Stroke Stroke
100 | 200 50 |100(150|200
Model Load (N) Model Load (N)

CXWL10 9.81 0.07 - CXWL10 2.94 006(030| — | —
CXWL16 39.2 0.05 0.20 CXWL16 4.90 0.03(0.10|0.25|0.45
CXWL20 49 0.04 | 0.15 CXWL20 7.84 0.03/0.09|0.18|0.35
CXWL25 68.6 0.03 0.10 CXWL25 9.81 0.03(0.09|0.16 | 0.25
CXWL32 98.1 0.02 0.07 CXWL32 29.42 0.020.05|0.10|0.15

Note) The values denote the total width of the
deflections in the upward/downward
direction.

909



CXWL series

Construction: 210, 216, 925

CXWL10

With end lock @ @

CXWL16

®
S
-8
S
@
%

AVAVERW

i ‘,"
d - = I

CXWL25
2@ @4 @@ BDHROBBE D@
i / / \ ‘l / / ) / /
_¢_—1/ — / /'?//
E— — 7] /‘/‘/
'{_ [| T =Tl -_é
/ @ @ \
With end lock . / ®
b
== SN g

910

O
3



Construction: 210, 216, 225

Component Parts

Slide Unit: Built-in Shock Absorber
Ball Bushing Bearing Type

Component Parts: With End Lock

CXWL series

No. Description Material Note No. Description Material Note
1 |Rod cover Aluminum alloy Anodized 27 |Locking body Aluminum alloy Hard anodized
2 |Rod cover A Aluminum alloy Anodized 28 |Lock finger Alloy tool steel Nickel plated after quenched
3 |Rod cover B Aluminum alloy Anodized 29 |Lock piston Carbon tool steel | Elctioless nickel plated after quenched
4 |Housing Aluminum alloy Hard anodized 30 | Rod cover Aluminum alloy
5 |Piston Aluminum alloy Chromated 31 |Return spring Spring steel Zinc chromated
6 |Piston rod High carbonate chrome bearing steel pipe | Quenched, Hard chrome plated 32 | Adjusting bolt Chromium steel Nickel plated
7 |Plate Aluminum alloy Hard anodized 33 | Body gasket NBR
8 |[Lock nut Carbon steel Nickel plated 34 |Rod seal NBR
9 |Adjusting bolt Chromium steel Nickel plated 35 | Piston seal NBR
10 |Set screw (For fixing rods) Chromium steel Nickel plated 36 | Steel ball High carbon chrome bearing steel
11 | Setscrew (Forfixing shock absorbers) Stainless steel 37 | Steel ball High carbon chrome bearing steel
12 |Retaining ring Carbon tool steel Phosphate coated 38 | O-ring NBR
13 |Plug Brass Nickel plated 39 | Round type Rretainingring | Carbon tool steel Phosphate coated
14 |Magnet — o5 40 |Lock nut Carbon steel Nickel plated
15 |Set screw for seal Chromium steel Nickel plated 41 |Plug Chromium steel Nickel plated
16 |Spring Stainless steel
17 |Type CR retaining ring| Carbon tool steel Replacement Parts: Seal Kit
18 |Round type Rretainingring |  Carbon tool steel Phosphate coated End Lock
19 |Shock absorber — (RB0805-X552 or RB1006-X552) Model Kit no. Gontants
20 |Socket Brass Electroless nickel plated CXWL10 CXWL10R-PS
21 |Gasket NBR CXWL16 CXWLIBR-PS Abset of @3, @, 35 and 3 listed
22 |Ball bushing — CXWL25 oXWizsRPS |
2 R_Od seal NBR = Seal kit includes 33, 39, 35 and 8. Order the seal kit with the part
24 |Piston seal NBR number for each model.
25 |Piston gasket NBR = Since the seal kit does not include a grease pack, order it separately.
26 |Cylinder tube gasket NBR Grease pack part no.: GR-S-010 (10 g)

Replacement Parts: Seal Kit
Cylinder Body

Model Kit no. Contents
CXWL10 CXWL10-PS - —
CXWL16 CXWL16-PS :bsoevleof 23, 29 and @ listed
CXWL25 CXWL25-PS

* Seal kit includes @3, 24
for each model.

+ 25 is not replaceable.

* Since the seal kit does not include a grease pack, order it separately.
Grease pack part no.: GR-S-010 (10 g)

Order the seal kit with the part number

911



CXWL series

Construction: 220, 232

CXWL20

\
W a2av 4

With end lock

CXWL32
(OROROIOEO)

=
o

® ©

83 ¢
‘\l'ﬁ @
\

@)
1K)

147 NARE
With end lock
Component Parts
No. Description Material Note
1 Rod cover Aluminum alloy Anodized
2 | Rod cover A Aluminum alloy Anodized
3 | Rod coverB Aluminum alloy Anodized .
4 | Housing Aluminum alloy Hard anodized component Parts: With End Lock
5 Piston Aluminum alloy Chromated No. Description Material Note
6 | Piston rod High carbon chrome bearing steel — 1 | Locking body Aluminum alloy Hard anodized
7 | Plate Aluminum alloy Hard anodized 2 | Lock finger Alloy tool steel Nicke! plating after quenched
8 | Adj bolt Chromium steel Nickel plated 3 | Lock piston Tool steel plated after quenched
9 | Hex. socket head set screw Chromium steel Nickel plated 4 | Rod cover Aluminum bearing alloy
10 | Hex. socket head set screw Chromium steel Nickel plated 5 | Steel ball High carbon chrome bearing steel
1" ring Tool steel Phosphate coated 6 | Steel ball High carbon chrome bearing steel
12 | Magnet — o5 7 | Round type R retaining ring Carbon tool steel Phosphate coated
13 | Spring Stainless steel 8 | Return spring Spring steel Zinc chromated
14 | Type CR ining ring Carbon tool steel 9 | Plug Chromium steel Nickel plated
15 | Round type R retaining ring | Carbon tool steel Phosphate coated 1Ne‘el 25, (50) to 200 ST| iexagon socket | Ghromium steel Nickel plated
16 | Ball i — (25) ST Hexagon nut Carbon steel Nickel plated
17 | Shock absorber — RB1006-X552 or RB1411-X552 1N1°‘81 25, (50) to 200 ST| Adjt boltf  Chromium steel Nickel plated
18 | Plug Chromium steel Nickel plated (25) ST |Shock absorber| — RB1411
19 | Hex. socket head set screw Stainless steel 12 | Body gasket NBR
21 | Piston seal NBR 13 | Rod seal NBR
22 | Rod seal NBR 14 | Piston seal NBR
23 | Piston gasket NBR 15 | O-ring NBR
24 | Cylinder tube gasket NBR Note) Figures in parentheses denote the case of CXWM32.
Replacement Parts: Seal Kit Replacement Parts: Seal Kit
Cylinder Body End Lock
Model Kit no. Contents Model Kit no. Contents
CXWL20 CXWL20-PS A set of @), @2 and 4 listed CXWL20 CXWL20R-PS A set of 12, (3, 149 and (5 listed
CXWL32 CXWL32-PS above CXWL32 CXWL32R-PS above

+ Seal kit includes 2, @2 and @4. Order the seal kit with the part number
for each model.

= @ is not replaceable.

+ Since the seal kit does not include a grease pack, order it separately.
Grease pack part no.: GR-S-010 (10 g)

912

+ Seal kit includes (2, (3, @9 and (5. Order the seal kit with the part number
for each model.

« Since the seal kit does not include a grease pack, order it separately.
Grease pack part no.: GR-S-010 (10 g)



Slide Unit: Built-in Shock Absorber .
Ball Bushing Bearing Type CXWL Series

210 Basic Type: CXWL10-Stroke/25 to 100

) Max. ZZ
. Q
2x2x03.3 through ss s
2x2x06.5 counterbore depth 3.2 r F P £005 -
\ (04w hole pitch) | & 1
3
2xM8x1.0 ‘ \ El |
Adjusting bolt \ kg
E
<+ ©
\ [ -—- N
\ |* 6 i ® .
Q | B N - 5 T | @ o
< 41‘—? é’— P e o ¥ &
J — — &
- A i
| R |
e |
@1, - 1 ‘
0417*3°"2 depth 6 4 x M4 x 0.7 thread depth 6 Socket 3 6
T
4 positions for set screws for fixing shock absorbers (M4) 2xM5x0.8
2 x M4 x 0.7 socket connection port (2 positions of hexagon socket head plug) Cylinder port
oanr T8O
| 2
ol o @ R LI %ﬁ% =
) J
©
28 | L | 2 x M5 x 0.8 plug (M-5P)
' - (Housing side port)
Max. 8 10 Z 10 95
2 x 2 x 041782 depth 5 F P 4 x 3.2 through
‘[ 4 x @6.5 counterbore depth 3.3
5
Hoe | = °f o
T T
! hid &— & q
W ‘ —
o 1 | I~
m‘ Q| E —EE} ' 1 A *
K
o = 4
Lol —————] 3 4
f v L
Q_le\/lf x 0.7 thread depth 8 2 x RB0805-X552
Shock absorber
(mm)
Model F L P Q S Ss z zz
CXWL10-25 35.5 45 30 138 27 101 128 | 165.5
CXWL10-50 38 70 50 188 52 126 178 | 2155

CXWL10-75 40.5 95 70 238 77 151 228 | 2655
CXWL10-100 43 120 90 288 | 102 | 176 | 278 | 3155

913



CXWL series

210 With End Lock: CXWL10-|Stroke/25 to 100/R

2x2x M4 x0.7 thread depth 8

Max. ZZ

2 x 2 x 94+7 *§°™ depth 5
2x RBOQOS-XSS?
2xM§x1.0 _ Shock absorber
Adjustment bolt /
N —1 /¢ [
> | ) o]
RE3 @ ® I t =f
5 | i L ol
rjol T 01 o
1 ofs % s
®
E4 & o
3 @
f hd
E A = =
0. 40 \4 x 3.2 through Socket
49 2 x M5 x 0.8 hexagon socket head plug 4x065 depth33 2 X_Ms x08
(Cylinder port) Cylinder port
2 x M5 x 0.8 plug (M-5P)
Max.9 14.5 (Cylinder port) Max. 8
- = P ==
o] Qo diE—t
l -é— @ QB m‘ m* I %
AT
10 9.5 2 x2x03.3 through
End lock mechanism 22 _ 10 04478 *depth 6 2 x 2 x 86.5 counterbore depth 3.2
> ‘ (et [
g &
Y ge ? N B ey
Dl oy 5
g8 f—1to —=—5—ef-
(4 N E—————1o
/I ¢ @)
\4xM4x0.7 thread depth 6\ 4 positions for set screws (mm)
for fixing shock absorbers (M4) Model 77
(zcx |MZ x 0.8 :;exagon sockethead plug 105 5 CXWL10-25R 1885
inder porf
Y P < CXWL10-50R 238.5
qtg@ S ( CXWL10-75R 288.5
] Ld CXWL10-100R 338.5

Housing mounting type with auto switch

CDBXWL10-[Stroke], CDBXWL10-[Stroke| R

Auto switch .22 Magnet mounting block
/,.—
\ o
F Y ] —]

— o T =

. % O
© | [
b I = o

[ @ @

Note 1) The figure above is for D-E7CIA/E80A.
Note 2) For only 25 stroke, 2 magnets for auto switches are equipped
with the magnet mounting block.

914

Plate mounting type with auto switch

CDPXWL10-[Stroke|, CDOPXWL10-[Stroke| R

Auto switch . _Hw
\
B I 1 [ .
i3 @ @ L 15!
il - L ;
€ E——
i -0 ) @ b4
Pl o =
Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw Ht Hv
D-A70], D-A80 23 15 10.5
D-F70, D-J79, D-J79W, D-F7OW, > 5 w
D-F79F, D-F7BA, D-F7TNT
D-A7CH, D-A80H 22 15 9
D-A73C, D-A80C 23 | 175 | 175
D-F701V, D-F7CJ0WYV, D-F7BAV 23 15 14
D-J79C 24 | 175 | 16

Note 2) For only 25 stroke, 2 magnets for auto switches are

installed in the housing.



Slide Unit: Built-in Shock Absorber .
Ball Bushing Bearing Type CXWL Series

216 Basic Type: CXWL16-Stroke/25 to 200

Max. ZZ
Q 2 x 2 x 94.3 through

- o )
‘ ss s | 2 x 2 x 08 counterbore depth 4.5

F P f005 |

(5+7 hole pitch) .
; o - 5 16
2xM8x1.0 < —
n | 3 7 4 1
Adjustment bolt  \ @‘ I8 j»
o e < & ©
Feptiog e Ay || P 4 | @
&1
i R |
$ | . /
&
AR =
0517'8°" depth 6 4 positions for set screws for fixing shock absorbers (M4)
4 x M5 x 0.8 thread depth 10 55 75
e 2x2xM5x0.8
(Hexagon socket head plug)
41
‘ 2xM5x0.8
Cylinder port
‘ ] L]
<l -
&l 3 - & Ni’
Max.6 12 z 12 2x2xM5x0.8
F 4 x @4.3 through Thread depth 10

P
‘T 4 x 98 counterbore depth 4.5

5 ﬁgf

Lo — ®
\ 0
,J‘;, J D
S & -
T \
— \
\ +0.012
2 x RB0805-X552 2x2xo5H7 0"~ depth 6
Shock absorber
(mm)
Model F L P Q S Ss Y4 zz
CXWL16-25 34.5 39 52 160 27 121 148 184
CXWL16-50 47 64 52 210 52 146 198 234
CXWL16-75 53 89 65 260 77 171 248 284

CXWL16-100 53 114 90 310 | 102 | 196 | 298 | 334
CXWL16-125 65.5 | 139 90 360 | 127 | 221 348 | 384
CXWL16-150 78 164 90 410 152 246 398 434
CXWL16-175 90.5 | 189 90 460 | 177 | 271 448 | 484
CXWL16-200 103 | 214 90 510 | 202 | 296 | 498 | 534

915



CXWL series

216 With End Lock: CXWL16-Stroke/25 to 200 R

2 x 2 x M5 x 0.8 thread depth 10

Max. ZZ

2x 2 x 05173 depth 6
2xM8x1.0

Adjustment bolt

2 x RB0805-X552
Shock absorber

2xM5x0.8
Cylinder port

=]
o 9 ® =1 [
5 )
5 5
’ 24 @ ]
I~ N
o o 2
o2 of—
| 4 x 94.3 through ]
2xXM5x0.8 05*@— 4 x @8 counterbore depth 4.5 75 55
Hexagon socket head plug (Cylinder port)
Max. 6
Max. 6 41 2 x M5 x 0.8 plug (M-5P)
) ™ (Cylinder port)
relidisel | .
W Je Qo o -
I I('» * 0.012
957 0"
. 40012 12 2x2x04.3 through
End lock mechanism 23 12 o517 0 " depth 6 2 x 2 x 08 counterbore depth 4.5
e o
T @ R //
| B 7 =T j&
| " [T
[ foell |F< mm;
N5 L e e T
¢ c \ —1& CXWL16-25R | 207
I — &) CXWL16-50R | 257
\ \ 4 positions for set screws CXWL16-75R 307
(Zcx IMZX 0.8 h)exagon socket head plug o fofﬁxilq shock absorbers (M4) m =
ylinder port 6 _\ZoL AL nd
Tr 4 x M5 x 0.8 thread depth 10 CXWL16-125R 207
o [T CXWL16-150R | 457
o &) CXWL16-175R | 507
CXWL16-200R | 557

Housing mounting type with auto switch

CDBXWL16-[Stroke|, CDBXWL16-[Stroke] R

Auto switch Hw Magnet mounting block
| / I
| g \
L 1
N 5 |
i # e oty
_ 2]
=
L —® & | te]
Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Hs Ht
D-A70], D-A80 23 12.5 15

D-F70, D-J79, D-J79W, D-F701W,

D-F79F, D-F7BA, D-F7NT ® |88 ®

D-A70H, D-A80H 22 12.5 15
D-A73C, D-A80C 23 15 17.5
D-F701V, D-F7O0WYV, D-F7BAV 23 125 15
D-J79C 24 15 175
D-F7LF 30 12.5 15

Note 2) For only 25 stroke, 2 magnets for auto switches
are equipped with the magnet mounting block.

916

Plate mounting type with auto switch

CDPXWL16-[Stroke]|, CDPXWL16-[Stroke| R

Auto switch Hw

i &
L 18 : ¢
= =
Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Ht Hv
D-A70], D-A80 23 15 10.5

D-F70J, D-J79, D-J79W, D-F700W,

D-F79F, D-F7BA, D-F7TNT = B i

D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 176 | 17.56
D-F701V, D-F70WV, D-F7BAV 23 15 14
D-J79C 24 17.5 16

Note 2) For only 25 stroke, 2 magnets for auto switches are
installed in the housing.



Slide Unit: Built-in Shock Absorber .
Ball Bushing Bearing Type CXWL Series
220 Basic Type: CXWL20-Stroke/25 to 200

2 x 2 x 95.2 through

2 x 2 x 99.5 counterbore depth 5 7z
— S
—— Q n 2 x4 x M5 x 0.8 thread through
88 <« s From the opposite side
- : g - = 2x4x07.5 counterbore depth 4.5
F P00 3 2xM10x1.0 v, 35

(@617 hole pitch) Adjustment bolt

670

“o T O 2 positions for set screws
for fixing adjusting bolts (M5)
8 I
i N
oo e GE o |
o é ";j — __CB
4 positions
4 x M6 x 1.0 thread depth 9 2617 *8%"? thread depth 8 for set screws for 2x2xM5x0.8 11
fixing shock absorbers  (Hegon socketheadplug) | |
155
-4 L - 2xM5x0.8
0617 6™ Cylinder port
]
0y i/ I SR
@
P B P — -/ S ;
ol o -
[SEIN f -
[ I
2x M4_1< 0.7 ?hrea(:j__de_plh 5 _l_ o
~
o
2x2x061"8" depth 8
2 x2x M6 x 1.0 thread depth 12
14 z 14
et
£ + P 4 x 95.5 through
‘ 4x09.5 counterbore depth 5.5
— o —
R— — —— S E -
=1 %
o ol —_
ol gl 4 I | 8 L3
AN R
- R
€
2 x RB1006-X552
Shock absorber
(mm)
Model F L P Q S SS z zz

CXWL20-25 | 355 | 39 52 164 27 123 | 150 | 178
CXWL20-50 48 64 52 214 52 148 | 200 | 228
CXWL20-75 | 56.5 89 60 264 77 173 | 250 | 278
CXWL20-100| 54 114 90 314 | 102 | 198 | 300 | 328
CXWL20-125| 66.5 | 139 90 364 | 127 | 223 | 350 | 378
CXWL20-150| 79 164 90 414 152 248 400 428
CXWL20-175| 91.5 | 189 90 464 | 177 | 273 | 450 | 478
CXWL20-200| 104 | 214 90 514 | 202 | 298 | 500 | 528

917




CXWL series

220 With End Lock: CXWL20-|Stroke/25 to 200|R

918

4 x M5 x 0.8 thread through

Housing mounting type with auto switch

CDBXWL20-[Stroke|, CDBXWL20-[Stroke|R

Auto switch

2z From opposite side
[e] 4 x 7.5 counterbore depth 4.5
Ss S
F P 2x2xM6x1.0
11 depth 21 s R 55 17
(MO X 1.0 x 14 L adiusiing / Thread depth 12
bolt on the plate) 2xM10x1.0
/ Adjustment bolt 2 positions for set screws for
7%7 - — F— fixing adjustment bolts (M5)
n N
* 5 . é? a1
3 & o] 918
8 W3 b ! ks S R - é; ?
= ’
_é._.. S— | 3
|
- | T T\2x2x065 8™ depth8 11| | 2xM5x 0.8
& o [tar 46 /4 x ©5.5 through 1T Cylinder port
81 (14] 4 x ©9.5 counterbore depth 5.5 155
2 x M5 x 0.8 hexagon socket head plug a2 L
(Cylinder port) o
1 8
zﬁﬁal 6 ot ':
X | -
Tt af
2xM5x0.8 +0.012 2 x 2 x 95.2 th h
Hexagon socket head plug _.| L X 2 X 05.2 throug
2 x 2 x 29.5 counterbore depth 5
End lock mechanism 21 14 z
P+0.05 4 x M6 x 1.0 thread depth 9
(o617 hole pitch) o
e 1 :
= - g .
8 J—F-1-
2
HEE o 96— 2l e e
! ég' —— T e
¢4 positions T
:9’ SE’; ;C’Ewig‘” 8| L0678 tead ceptn 8| 2 x RB1006-X552
g storebsoes o Shock absorber
85 6 IR (mm)
- s Model F L P Q S |Sss| Z | zz
~ i © CXWL20-25R 355 | 39 52 164 | 27 123 | 150 | 199
— ] CXWL20-50R 48 | 64 | 52 | 214 | 52 | 148 | 200 | 249
CXWL20-75R 56.5 | 89 60 264 | 77 173 | 250 | 299
CXWL20-100R 54 114 | 90 314 | 102 | 198 | 300 | 349
2 x 2 x M5 x 0.8 hexagon socket head plug CXWL20-125R | 66.5 | 139 | 90 | 364 | 127 | 223 | 350 | 399
(Cylinder port) CXWL20-150R 79 164 | 90 | 414 | 152 | 248 | 400 | 449
CXWL20-175R | 91.5 | 189 | 90 | 464 | 177 | 273 | 450 | 499
CXWL20-200R 104 | 214 | 90 514 | 202 | 298 | 500 | 549

Plate mounting type with auto switch

CDPXWL20-[Stroke|, CDOPXWL20- R

Hw Magnet mounting block Auto switch Hw .
>
I
= Y %\n
H +—-—H O
Ej‘ ! # 1 1 - .=.j.
u ‘ % . .
< = ¥
=0 ]
Note 1) The dimensions show D-A7 and D-A8. (mm) ote 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Hs Ht Auto switch model Hw | Ht Hv
D-A70, D-A80 23 | 125 | 15 D-A701, D-A80 23 15 | 105
D-F70, D-J79, D-J79W, D-F700W, 23 125 15 D-F70, D-J79, D-J79W, D-F7OW, 23 15 10
D-F79F, D-F7BA, D-F7NT ) D-F79F, D-F7BA, D-F7NT
D-A700H, D-A80H 22 | 125 | 15 D-A700H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 17.5 D-A73C, D-A80C 23 | 175 | 175
D-F70V, D-F7OWV, D-F7BAV 23 | 125 | 15 D-F70V, D-F7OWV, D-F7BAV 23 | 15 | 14
D-J79C 24 15 17.5 D-J79C 24 | 175 | 16
D-7LF 30 | 125 | 15 Note 2) For 25 stroke, 2 magnets for auto switches are

Note 2) For 25 stroke, 2 magnets for auto switches are

equipped to the magnet mounting block.

installed in the housing.



Slide Unit: Built-in Shock Absorber .
Ball Bushing Bearing Type CXWL Series

225 Basic Type: CXWL25-|Stroke/25 to 200

2 x 2 x 05.2 through ) Max. ZZ .
2x2x09.5 counterbore depth 5 Q
SS S
| F p+005 )
%_ (067 hole pitch) ‘.

1 I =

1 o~ — I 16

i i S

§ ; @

~
B % r - @7@ 8 5

/j
@
| ©
ol &
61762 depth 4, | éf_t_!
e
67
79
\

+
3]

& \
@ P

L " -
4 positions for set screws
4X M6 x 1.0 thread depth 12 \ 06178 %depth 8 4 postons for set screws__ > 2x2xRc1/8 L‘?_
- for fixing shock absorbers (M5) Plug (R 1/8) 18
435 L
obr7 80 2xRc 1/8
| Cylinder port
= rt
N & 7 = —
3 m‘. E_ ‘ © J—
'
2x2x M6 x 1.0 thread depth 12 16 . . -z 16 Max. 6
2x2 X706H7‘8 2 Gepth 8 F P 4 x 05.5 through
4 x 09.5 counterbore depth 5.5
;— e
0 2xM10x 1.0
Y Adjustment bolt
13
3| 5| ﬁf : N

| ©

3 | Te
|

2x RB1006-X552
Shock absorber
(mm)
Model F L P Q S Ss z zz

CXWL25-25 31.5 M 65 171 27 128 155 199
CXWL25-50 31.5 66 90 221 52 153 205 249
CXWL25-75 56.5 91 65 271 77 178 255 299
CXWL25-100 56.5 116 920 321 102 203 305 349
CXWL25-125 69 141 90 371 127 228 355 399
CXWL25-150 81.5 166 90 421 152 258 405 449
CXWL25-175 94 191 920 471 177 278 455 499
CXWL25-200 | 106.5 | 216 90 521 202 303 505 549

919



CXWL series

225 With End Lock: CXWL25-|Stroke/25 to 200|R

2 x2xMs x 1.0 thread depth 12 Max. ZZ

2 x 2 x 86H7 *§912depth 8
2xM10x 1.0
Adjustment bolt

2xRc1/8 51

\Plug (R 1/8)
(Cylinder port)
Max.

‘w 2 3]
- 3 e
- hll 1
R worary El
o)~ é(\'ﬁ
|
&1 1
© $ @
@ [#]
4 x 25.5 through 2xRc1/8

4x09.5 counterbore depth 55 Cylinder port

2xRc 1/8

[Plug (R1/8) Max. 6
(Cylinder port)

T T
T ee

oL
2]

©

%
Mt

End lock mechanism 23 _ 16

+0.012
| | 061 6™

+0.012

06H7 0" " depth 8

2 x RB1006-X552 B}
T - 1) Shock absorber 1
i Jils @ L ]
‘ & .ﬁ.é 7
ol t/~l ry Y ® o1t IS -
B (S 18 hd hd hd bt ©
]
L RE ==
CIRET
4xM6x 1.0 thread depth 12\ 4 positions for set screws
2xRc 1/8 135 for fixing shock absorbers (M5)
PugE1B) N\ e
(Cylinder port)
+
“’f é +

3l

Housing mounting type with auto switch

CDBXWL25-[Stroke|, CDBXWL25-[Stroke| R

i Magnet mounting block
Auto switch Hw g nounting block

r $ T ,:::!+g
-g1' _ i

|

Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Hs Ht
D-A701, D-A80 23 12.5 15
D-F70J, D-J79, D-J79W, D-F700W,
D-F79F, D-F7BA, D-F7NT 2B | 125 15
D-A70H, D-A80H 22 125 15
D-A73C, D-A80C 23 15 | 175
D-F701V, D-F70JWV, D-F7BAV 23 12.5 15
D-J79C 24 15 17.5
D-F7LF 30 125 15

Note 2) For only 25 stroke, 2 magnets for auto switches are
equipped to the magnet mounting block.

920

16 2x2x@5.2 through
2 x 2 x09.5 counterbore depth 5

CXWL25-25R
_CXWL25-50R |

CXWL25-100R
CXWL25-150R |

CXWL25-200R

Model

CXWL25-75R

CXWL25-125R

CXWL25-175R

Plate mounting type with auto switch

CDPXWL25-[Stroke|, CDPXWL25-[Stroke|R

Auto switch Hw
_ Auto switch_ r_‘

.

Reaca

§

<2
-&

L

99

|
=

|
1]

Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Ht | Hv
D-A70, D-A80 23 15 | 10.5
D-F70J, D-J79, D-J79W, D-F7TOW, | 4 15 10
D-F79F, D-F7BA, D-F7NT
D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 175 | 175
D-F701V, D-F7O0WV, D-F7BAV 23 15 14
D-J79C 24 | 175 | 16

Note 2) For only 25 stroke, 2 magnets for auto switches are

built into the housing.

mm
zZ
222
272
322
372
422
472
522

572



Slide Unit: Built-in Shock Absorber .
Ball Bushing Bearing Type CXWL Series

232 Basic Type: CXWL32-Stroke/50 to 200

2 x 2 x 26.9 through

v 2xM14x1.5
2x2x011 counterbore depth 65\ | _ Q Adjustment bolt
| SS S
a1 P +0.05 24.5 7.5
2 positions for set screws 2x 4 x M8 x 1.0 thread through
for fixing adjustment bolts (M6) / From the opposite side

\
% (087 hole pitch)
(). —
o

|
y. @ 2x4x09.5 counterbore depth 5.4
: 1 o
Y : Re il 1] ¥
0| - Ur*c [fe)
= o+ ¢ - tFE S o
|

d
Lol N ﬁ;j

&
el ol |

depth 6
13
,

40015

s
T
8 0
O~

\ I
\ \ /
\
4 x M8 x 1.25 thread depth 15 / \ 08170 °'5depth 12 \ 4 positions for set screws 2x2xRc1/8/ ‘ 1
for fixing shock absorbers (M5) Plug (R 1/8) 20.5
30 L 2xRc1/8
08, 2% | [Cylinder port
| ’/ g
. Ly i - / X
. Bl
g e (ats
2]

e
~— .

2xM6x1.0thread depth 7/ | |

2x2xM8x 125 thread depth 15 20 z

R S——
2 x 2 X 28n7*3%0 depth 12 41 P 4'x 6.9 through
\ "‘ | f4xo11 counterbore depth 7|
i % ié
o T
& ! &
| 1 . .
g 1 E
0|87 & I | — 2l _lg
20 - - 8| —o—|
b hpy M | i T .=
| N
18] ©-—-© L
\\
2 x RB1411-X552 shock absorber \‘\
(mm)
Model L P Q S SS Y4 Y24
CXWL32-50 102 80 234 52 162 214 254
CXWL32-75 127 105 284 77 187 264 304

CXWL32-100 152 130 | 334 102 | 212 | 314 | 354
CXWL32-125 177 | 155 | 384 | 127 | 237 | 364 | 404
CXWL32-150 202 | 180 | 434 | 152 | 262 | 414 | 454
CXWL32-175 227 | 205 | 484 177 | 287 | 464 | 504
CXWL32-200 252 | 230 | 534 | 202 | 312 | 514 | 554

921



CXWL series

232 Basic Type: CXWL32-[25 stroke]

245 75

2x4xM6 x 1.0 thread through

From the opposite side
2x4x09.5 counterbore depth 5.4

1

2x2x06.9 through 204 B Max. 48 = Shock absorbers
2 x 2 x o11 counterbore depth 6.5 184 , RB1411
\ | e 137 27 _ | [ Mi2x15
2 positions for set screws 4 55-005 T | (Single housing installed)
for fixing shock absorbers (M5) l ’_ (28H7 hole pitch) ‘ /
A\ 1
M14x1.5 :
| “Adustment boi < 1
Sle \
A o |7 |
MY Q gl [
SRS 9 3L = 8 B
T - |
& . |
@ | I
1 i
3 e

/ '\
1 position for setscrew 4 x M8 x 1.25 thread depth 15 / | 0878 depth 12 2x2xRc1/8/ } 13
for fixing adjustment bolt E"_U,gmf gg§
.30, 77 2xReiB
08,5’ [? | /Cylinder port
| IE
S
) oo |l —
o e TT¥e eIt
I3 V (<] 0= a3
f H
! o
[E
2xM6x1.0thread depth 7/ | | 10
2x2xM8x1.25 thread 15 2! _16: N
2 x 2 x 8873015 depth 12 41 55 4 x 26.9 through
\
A

4xo11 counterbore depth 7

18

922




Slide Unit: Built-in Shock Absorber
Ball Bushing Bearing Type

232 With End Lock: CXWL32-Stroke/50 to 200|R

315 55
o
o-¢

Auto switch

CXWL series

285 _ zz B
2x2x M8 x1.25 thread depth 15 Q 2xM14x1.5
2 x 2 x 287 '8 *depth 12 r ss [ Adj bolt
015 depth 28.5 |4 . P _ | | / 75, .. .245
(With M4 x1.5x20 L | | ‘ i [ 2positions for setscrews T 4 %M x 1.0 thread through
adjustment bolt on the plate) } \ / fnﬂixing a}jjusling bolts (M@ From the opposite side
] ox - - jwculi 4x09.5 counterbore depth 5.4
B ! 1
( | 1 [ 1
- | |1 Hosl | — B
P ; Slg !
— S 2] - | - n
S g B 2 s 8
R
L \ | 4x06.9 through 7
1, | 15 2 xRc 1/8 L 65 | l4xo nterbore depth 7 15___\4' \ 2x2xRe1/8
Plug (R 1/8) . 205 ] \\Cy inder port__
(Cylinder port) 2xRe 1/8
30, L /[ Plug (R1/8)
[- | /" (Cylinder port)
i
|
}
RB1411-X552 shock absorber
End lock mechanism 20 Z / 20, 2 x2x06.9 through
\ |oLA, Proos / /2x 2 x o011 counterbore depth 6.5
\ | (87 hole pitch‘)
! |
|
3
I
.
N\
[ Ee—-—pi
f\
4 x M8 x 1.25 thread depth 15 / \\‘ \ 4 positions for set screws
2 xR 1/8 08178012 depth 12\ \ for fixing shock absorbers (M5)
Plug (R 1/8) (mm)
ug
(Cylinder port) 14.5 Model L P Q S SS r4 Y74
o CXWL32-50R 102 80 234 52 162 | 214 | 254
] CXWL32-75R 127 | 105 | 284 | 77 | 187 | 264 | 304
— l & [+ { CXWL32-100R | 152 | 130 | 334 | 102 [ 212 | 314 | 354
{ CXWL32-125R 177 | 155 | 384 | 127 | 237 | 364 | 404
= CXWL32-150R 202 | 180 | 434 | 152 | 262 | 414 | 454
CXWL32-175R | 227 | 205 | 484 | 177 | 287 | 464 | 504
CXWL32-200R | 252 | 230 | 534 | 202 | 312 | 514 | 554

Housing mounting type with auto switch

CDBXWL32-[Stroke|, CDBXWL32-[Stroke|R

HW

Magnet mounting block

Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Hs Ht
D-A70], D-A80 23 | 125 15
D-F70, D-J79, D-J79W, D-F701W,
D-F79F, D-F7BA, D-FINT i Ml
D-A7C1H, D-A80H 22 | 125 | 15
D-A73C, D-A80C 23 15 | 17.5
D-F701V, D-F70O0WV, D-F7BAV 23 | 125 | 15
D-J79C 24 15 | 175
D-F7LF 30 12.5 15

Note 2) For 25 stroke, the shock absorber is mounted
on a single side of the plate. For dimensions of

25 stroke, refer to page 924.

Plate mounting type with auto switch

CDPXWL32-[Stroke|, CDPXWL32
HW

[stroke|R

Auto switch ’Ht
>
I
3 ——1 O
I “ —— + —
L; A 1 *
Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Ht Hv
D-A7(], D-A80 23 15 | 105
D-F70, D-J79, D-J79W, D-F700W, 3 15 10
D-F79F, D-F7BA, D-F7TNT
D-A7C1H, D-A80H 22 15 9
D-A73C, D-A80C 23 175 | 17.5
D-F701V, D-F70WV, D-F7BAV 23 15 14
D-J79C 24 | 175 | 16

Note 2) For 25 stroke, the shock absorber is mounted
on a single side of the plate. For dimensions of

25 stroke, refer to page 924.

923



CXWL series

232 With End Lock: CXWL32-[25 stroke|R

Max. 19.5 28.5 204
2 x2x M8 x 1.25 thread depth 15 i 184 M147x1.5
2 x 2 x 0817 "% depth 12 ‘ e 187 27 _ [Adjustig bolt
s 55 / 75, 4.5
BB | /' 1 position for set screw 4 x M6 x 1.0 thread through
M14x1.5_ | forfixing adjustment bolt / From the opposite side
,— RB1411 &l 4x09.5 counterbore depth 5.4
A Shock absorber \ g i l‘
I / |
A }ér | 1= /I 5
0 | iz El =
=1k =1 |
0 @ =y ‘ o % 3= o
W * W & i |
& I '\g Red & é”: .g_ ! i
| 4 x06.9 through T
1, 15 2xRc1/8 _ 65 14 x 211 counterbore depth 7 15 | \ 2x Rc 1/8
Plug (R 1/8) 205 | Cylinder port
(Cylinder port)
2xRc1/8
30, 77 / Plug (R 1/8)
| / (Cylinder port)
I} l"
ry T
fote] ﬁ | o
o|R[w . 2
“[ES'E'N © i \ ii* E
T T
oo | S @
RB1411-X552 shock absorber
End lock mechanism 20 164 / 2 x 2 x 6.9 through
\ | 41 55+0.05 / 2 x 2 x @11 counterbore depth 6.5
\\ | (0847 hole pitch) /
|
I—I_WW |
i ?
! i
mi ‘ ! * il ;
2 olol =
828 g e
£ T
. RanR o \
1t ol 2 p
AN
2xRc 1/8 4 x M8 x 1.25 thread depth 15 | Vo 2 positionrsﬂfor set screws
Plug (R 1/8) 08170 P depth 12\, | for fixing shock absorbers (M5)

T\

(Cylinder port 145

Housing mounting type with auto switch
CDBXWL32-25, CDBXWL32-25R

Auto switch Magnet mounting block

Plate mounting type with auto switch
CDPXWL32-25, CDPXWL32-25R

Auto switch Hw o
I

Hw
-
I
=0 | n
| +
:\'.:_g T
Note 1) The dimensions show D-A7 and D-A8.
Auto switch model Hw
D-A70], D-A80 23
D-F70, D-J79, D-J79W, D-F700W, 23
D-F79F, D-F7BA, D-F7NT
D-A700H, D-A80H 22 12,5 15
D-A73C, D-A80C 23 15 | 17.5
D-F701V, D-F700WV, D-F7TBAV 23 125 15
D-J79C 24 15 | 17.5
D-F7LF 30 125 15

Note 2) 2 magnets for auto switches are equipped to the
magnet mounting block.

924

3

i | +
¢-§ T
Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Ht Hv
D-A70], D-A80 23 15 10.5
D-F70], D-J79, D-J79W, D-F700W, 23 15 10
D-F79F, D-F7BA, D-F7NT
D-A700H, D-A80H 22 15 9
D-A73C, D-A80C 23 | 175 | 175
D-F701V, D-F700WV, D-F7TBAV 23 15 14
D-J79C 24 | 175 | 16
Note 2) 2 magnets for auto switches are installed in the
housing.



Slide Unit: Built-in Shock Absorber .
Ball Bushing Bearing Type CXWL Series

Operating Range

(mm)
. Applicable cylinder size
Auto switch model 10 16 20 25 32
Housing

D-A7C1/A80 i -
D-A7OH/ABOH | -—"%uing 6 6 6 6
D-A73C/A80C mounting 6
D-E7CJA/E80A  |Housing mounting) 6 — - — _
D-F70/J79 Housing _ 4 3
D-F700V/J79C mounting
D-F7O0W/F70O0WV 25 3
D-F7BA/F7BAV Plate
D-F79F/F7NT mounting 3 3 25

* Since this is a guideline including hysteresis, not meant to be guaranteed.
(Assuming approximately +30% dispersion)
There may be the case it will vary substantially depending on an ambient
environment.

e |

I Other than the applicable auto switches listed in “How to Order”, the following auto switches can be mounted. 1
: For detailed specifications, refer to pages 1289 to 1383. :
1 . Electrical entry Applicable cylinder size 1
1 Auto switchitype Model (Fetching direction) Features Housing mounting | Plate mounting 1
1 216, 620 210,616 1
1 Solid state D-F7NT Grommet (In-line) | With timer ! 220, 625 1
025, 932
1 032 1
1 = With pre-wire connector is available for D-F7NT type, too. For details, refer to pages 1358 and 1359. 1
1= It is impossible to mount solid state auto switches to the housing mounting 210. 1
L

- e e e e e e e e e e mm mm e e ]

925



CXW series

Specific Product Precautions

Be sure to read this before handling the products. Refer to page 8 for safety
instructions and pages 9 to 18 for actuator and auto switch precautions.

CXW: With End Lock

Operating Pressure

Recommended Pneumatic Circuit ‘

A Caution

1.

This is necessary for the proper operation and
release of the lock for cylinders with an end lock.

@:‘g 3

[v]

Precautions for Handling the End Lock Mechanism

A Caution

1

[\

w

4,

. Do not use 3 position solenoid valves.

Avoid using this cylinder in combination with a 3 position
solenoid valve (particularly the closed center metal seal type).
If air pressure becomes sealed inside the port of the side that
contains the lock mechanism, the lock will not engage. Even if
the lock is engaged at first, the air that leaks from the solenoid
valve could enter the cylinder and cause the lock to disengage
as time elapses.

. Back pressure is required to release the end lock.

Be sure that air is supplied to the cylinder side without the
locking mechanism (For cylinders with a double lock, the side
with an unlocked piston rod) before starting operating, as
shown in the drawing on the left. The lock may not be
released. (Refer to the section on releasing the lock.)

. Disengage the lock before installing or adjusting the

cylinder.

The lock could become damaged if the cylinder is installed with
its lock engaged.

Operate with a load ratio of 50% or less.

If the load ratio exceeds 50%, this may cause problems such
as failure of the lock to release, or damage to the lock unit.

5.Do not operate multiple cylinders in synchronization.

6.

7.

[l

Avoid applications in which two or more end lock cylinders are
synchronized to move one workpiece, as one of the cylinder
locks may not be able to release when required.

Use a speed controller with meter-out control.
Lock cannot be released occasionally by meter-in control.

Adjust the stroke within the range of the slotted hole
of the lock finger.

As the hole for mounting the lock finger is slotted, the lock
finger may be adjusted and mounted in accordance with the
adjustment amount of the adjusting bolt. The adjustment
amount of the adjusting bolt is £2 mm (£1 mm for each side).

Regarding manual disengagement

Insert a Phillips screwdriver through the lock finger hole to
push the lock piston down and slide it in the unlocking
direction. When doing so, take precautions to prevent your
fingers or hands from getting caught between the housing
plate and the lock.

926

A\ Caution

1. Apply a pressure more than the minimum operating

pressure to the port on the side where the locking
mechanism activates. The pressure is necessary to
release the lock.

Releasing the Lock

AWarning

1. Before releasing the lock, be sure to supply air to the side

without the lock mechanism, so that there is no load applied to
the lock mechanism when it is released. (Refer to the
recommended pneumatic circuit.) If the lock is released when
the port on the other side is in an exhaust state, and with a
load applied to the lock unit, the lock unit may be subjected to
an excessive force and be damaged. Furthermore, sudden
movement of the piston rod is extremely dangerous.



CX2/CXW series
Made to Order: Individual Specifications 1

Please contact SMC for detailed dimensions, specifications and lead times.

Applicable Series

No. | Symbol | Specifications/Description Slidelbes i/l (B AR Eea] No. | Symbol | Specifications/Description Slide]boaninol (Bl enEeaing
CX2 |CXWM CXWL CX2 |CXWM CXWL
H | -x138 Adjustable stroke (] [ ] [ J H | -X168 | Helical insert thread [ ) o [ J
H | -X146 Hollow piston rod [ ] [ ] [ ] B | -X169 | 2 built-in magnets [ ] [ ] [ J
Symbol
B Adjustable Stroke X138 |

C| Auto switch |X|:|| Type | | Bore sizel _ | Stroke | — X138

l Adjustment of +2 to —25 mm (max. —12.5 mm on one side) is possible
Adjustable stroke exceeding the stroke adjustment range (£2 mm stroke) of standard type.

Specifications

Bearing Slide bearing Ball bushing bearing ‘ Select adjustable stroke type auto switch (-X138) ‘
Seri =
eries cX20 CXWM CXWL A Caution
Type Non-lube/Air-hydro Non-lube Non-lube When 50 strokes are adjusted to 40 strokes or less with
: the adjustable stroke type (-X138), auto switches may not
Bore size 210, 415, 225 210, 516, 920, 525, 032 be able to be mounted properly since they interfere with
Cushion - Built-in shock absorber each other if the 2 in-line entry auto switches are used.
. N When strokes are adjusted to 40 strokes or less, select
Stroke . range. +.-2 mm to —25 mm (One side: Maximum —12.5 mm) the pery icular entry type or additionally select auto
= Air-hydro type is not available for size 210. switches with 2 built-in magnets (-X169).
Dimensions
—
CX2N10 to 25/CXW'\|f10 to 25 A 7z
Model | wax.)| 25+ | 50 [ 75 | 100° | 125 ] 150 [ 175% ] 200"
CX2N10 | 19 | 150 | 200 | 250 [ 300 | — | - - | -
_CX2[115 | 18 | 152 | 202 | 252 | 302 | 352 | 402 | 452 | 502
_CX2[125 | 19 | 179 | 229 | 279 | 329 | 379 | 429 | 479 | 529
CXWMI0| 20 | — [ 204 [ 254 304 | — | — - -
_CXWM16 | 18 - 212 | 262 | 312 | 362 | 412 | 462 | 512
_CXWM20 | 8 - 200 | 250 | 300 | 350 | 400 | 450 | 500
_CXWM25 | 19 - 229 | 279 | 329 | 379 | 429 | 479 | 529
cxw¥20/32 CXWM32| 10 | - — | 283 [ 333 | 383 | 433 | 483 | 533
A (Max.) CXWL 20 | 188 | 238 | 288 | 338 - - - -
& CXWL 18 | 208 | 258 | 308 | 358 | 408 | 458 | 508 | 558
& T T CXWL?Z 8 194 | 244 | 294 | 344 | 394 | 444 | 494 | 544
CXWL25 | 19 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575
[ s hs 5 CXWL32 | 10 - 274 | 324 | 374 | 424 | 474 | 524 | 574
e ——— ‘ # The -X138 is intended for use with the model with an adjusting bolt on both sides.
P 2z # Excludes the CXW with end lock (as the lock mechanism adjustment range is 2 mm)

Symbol

E Hollow Piston Rod Specifications

Construction
210

C| Auto switch |X|:|| Type | | Bore sizel - | Stroke | — X146

Hollow piston rod

Piping on the plate side can be used pressurization and evacuation.
For cylinder drive, piping shall be on the housing port. (The slide unit
operation with piping on the plate side impossible.)

015,016,025
Specifications

Bearing Slide bearing Ball bushing bearing -
Series cxa2d CXWM CXWL
Type Non-lube/Air-hydro Non-lube Non-lube
Bore size (mm)| 10, 815, 825* 210, 916, 820, 825, 632 920,032 i
. ] — |
Cushion With STECK absorber Built-in shock absorber N
ption) )

* Air-hydro type is not available for size 10.

927



CX2/CXW series
Made to Order: Individual Specifications 2

Please contact SMC for detailed dimensions, specifications and lead times.

Symbol
B Helical Insert Thread Specifications
In this type, helical insert thread is used for mounting the housing. Specifications
Bearing Slide bearing Ball bushing bearing
C| Auto switch |X|:|| Type ” Bore size | _ | Stroke | — X168 Series cx20 CXWM CXWL
Helical insert thread specifications Type Non-lube/Air-hydro Non-lube Non-lube
Bore size 210, 215, 825 * 210, 916, 20, 925, 832
Cushion With shoclf absorber Built-in shock absorber
(option)
R . # Air-hydro type is not available for size 10.
Dimensions
—
CX2N10 G R 2xM4x07 .
/ Helical insert thread depth 6 He"ca_l Insert Thr_ead
/ Series Bore size J K
I cxa20 015 4xM5x0.8 Helical insert thread depth 7
f e — 025 4xM6x1.0 Helical insert thread depth 9
& ¢ — 216 4xM5x0.8 Helical insert thread depth 7
| T I — Gy 225 4xM6x1.0 Helical insert thread depth 9
016 4xM5x0.8 Helical insert thread depth 7
CXWL 925 4xM6x1.0 Helical insert thread depth 9
CX2N10
Model G R
CX2N10-25 | 19.5 28 CX2[J15, CXWM16, CXWL16, CX2[125, CXWM25, CXWL25
CX2N10-50 30 32
CX2N10-75 35 47 F P 4xd
CX2N10-100 35 72 Herical insert thread depth K
/
CXWM10, CXWL10 < - — @,
F P 4xM4x0.7 : 1 &
Helical insert thread depth 6 A
) : S
4 T
= ey . |
4 T 7 — @
p—ob——te—4b 5 B
P —F - ) F‘j CX2015
L ~ 1 1
= = Stroke F P 1
CXWM10 CXWL10 25 mm 24.5 20
Model F P Model F P S0mm |{ 245 | 45
CXWM10-25| 21 25 CXWL10-25 | 355 30 75mm_| 27 | 65
CXWM10-50] 26 40 CXWL10-50 | 38 50 O0ImmESSo7RENO0RE 4
CXWM10-75| 26 65 CXWL10-75 | 405 70 125mm | 395 | 90
CXWM10-100] 26 20 CXWL10-100 | 43 90 d50immiep TAF00
175 mm | 64.5 90
200 mm 77 90
CXWM20, CXWL20, CXWM32, CXWL32
F . P 4xd CXWM16 CXWL16
/ Herical insert thread depth K Stroke F P | Stroke F P |
/ 25 mm 25 25 25 mm 34.5 52
[ S — — 50 mm 35 30 50 mm 47 52
75 mm 32.5 60 75 mm 53 65
_é_ ) & 100 mm | 37.5 75 53 100 mm | 53 90 53
ks 125mm | 425 | 90 125mm | 65.5 | 90
L o g L. o | 150 mm | 55 90 150 mm | 78 90
YT Al YT e 175 mm | 67.5 90 175 mm | 90.5 90
200mm | 80 90 200 mm | 103 90
° F— 1
. Y CX2[125, CXWM25 CXWL25
Stroke F P 1 Stroke F P |
Stroke | CXWM20 | CXWL20 | CXWM32 | CXWL32 25mm | 285 | 25 25mm | 315 | 65
F P F P F P F P 50 mm 31 45 50mm | 31.5 90
35mm | 27 | 25 365 o, |87 | 22 55 75mm | 335 | 65 75mm_| 565 | 65
50mm [ 345 35 | 48 45 80 100mm [335 [ 90 | 4 100mm [ 565 | 90 | 4
75mm | 34.5 | 60 | 56.56 | 60 70 105 125mm | 46 1 90 125mm | 69 | 90
100 mm [ 395 75 | 54 95| ,, [130 150mm | 585 | 90 150mm | 81.5 | 90
125 mm | 44.5 66.5 38 [125 155 175mm |71 90 175mm | 94 | 90
150mm | 57 | oo [ 79| 90 145 180 200mm | 835 | 90 200 mm [106.5 | 90
175 mm | 69.5 91.5 175 205
200mm | 82 104 195 230

928



Made to Order: Individual Specifications CXyCXW Series

I} with 2 Built-in Magnets

Symbol

Specifications
Cl Auto switch |XI:|| Type ” Bore size | - | Stroke | — X169 Bearing Slide bearing Ball bushing bearing
. _ Series cxa20d CXwM CXWL
With 2 built-in magnets

Type Non-lube/Air-hydro Non-lube Non-lube
Bore size 210, 215, 825 * 210, 916, 020, 925, 832

Two magnets for auto switch detection are built in.

* 25 strokes: 2 magnets as standard. This specification is applicable Cushion With shock absorber Built-in shock absorber

for 50 strokes or more. (option)

929



CX2/CXW series

Specific Product Precautions

Be sure to read this before handling the products. Refer to page 8 for safety
instructions and pages 9 to 18 for actuator and auto switch precautions.

Operating Precautions \

Handling on Shock Absorber

AWarning

1

. Take precautions to prevent your fingers or hands from
getting caught between the plate and the housing.
* Take sufficient care to avoid getting your hands or fingers
caught when the cylinder is operated.

Mounting ‘

A Caution

1.

Make sure that the cylinder mounting surface is flat
(a flatness of 0.05 or less {reference value}).
If it is not flat, it could lead to malfunction.

2. Make sure not to scratch or gouge the cylinder mounting surface.

Be aware that if the flatness of the housing mounting surface
or the mounting surface of the plates on both sides is affected,
it could lead to a malfunction.

3. Be careful not to twist the two piston rods.

If the piston rods are twisted or bent when mounting the
housing, the operating resistance could become abnormally
high or the bearings could wear prematurely, leading to
reduced accuracy or air leakage.

4. Consider reinforcing the plates.

When the cylinder is mounted on the housing, and the plates
are used for high-speed operation or used as a pusher, use a
connector plate to bridge both plates. Failure to do so could
cause the snap ring to become detached or the set screws to
shift, causing the plates to fall off.

Handling on Shock Absorber ‘

A Caution

ey

N

. Use caution not to be exposed to cutting oil, water, or dust, etc.

The RB series cannot be used under conditions in which fluids
such as cutting oil or water are present in atomized form or come
in direct contact with the piston rod, or in which dust could adhere
to the piston rod. Such conditions would cause malfunction.

. Do not operate the shock absorber in an environment

that poses the risk of corrosion.

The shock absorber could rust if used in an environment that
poses the risk of corrosion.

Refer to the respective construction for type of material that is
used in the shock absorber.

3. Abide by the table below for the tightening torque
for a mounting nut.
Shock absorber model RB0805 RB1006 RB1411
Thread O.D. (mm) M8 x 1.0 M10x 1.0 M14x 1.5
Thread prepared hole size (mm) 07.1°%" 09.1°%" 812.7°¢"
Tightening torque 167 314 108
(N-m)

4. Do not scratch the sliding portion of the piston rod

or the outside threads of the outer tube.

Do not scratch or gouge the sliding portion of the piston rod or the
outside threads of the outer tube by striking it with an object,
squeezing it, or by forcefully wedging a set screw in it.

Failure to observe this precaution could damage the seals, which
could lead to oil leakage and malfunction. Furthermore, scratches
or gouges on the outside threads of the outer tube could prevent
the shock absorber from being mounted onto the frame, or its
internal components could deform, leading to a malfunction.

930

A Caution

5. Never turn the screw on the bottom of the body.

(This is not an adjusting screw.)
Turning it could cause oil leakage. Do not turn

. the bottom screw
Piston rod

= B’

Do not scratch

6. Check the mounting nut is not loosen.

The shock absorber could become damaged if it is used in a
loose state.

7. Pay attention to any abnormal impact sounds or vibrations.

If the impact sounds or vibrations have become abnormally
high, the shock absorber may have reached the end of its
service life. If this is the case, replace the shock absorber.

If use is continued in this state, it could damage the equipment
to which the shock absorber is mounted.

8. Refer to the Operation Manual for how to replace the

built-in shock absorber for the CXW series.

Service Life and Replacement Period of Shock Absorber

A Caution

1. Allowable operating cycle under the specifications

set in this catalog is shown below.

1.2 million cycles RB08CO

2 million cycles  RB100J0 to RB2725

Note) Specified service life (suitable replacement period) is the
value at room temperature (20 to 25°C). The period may
vary depending on the temperature and other conditions.
In some cases the absorber may need to be replaced
before the allowable operating cycle above.

Auto Switch Selection for the Adjustable Stroke Type (-X138) \

A Caution

1. When 50 stroke is adjusted to 40 stroke or less with

the adjustable stroke type (-X138), auto switches
may not be able to be mounted properly since they
interfere with each other if the 2 in-line entry auto
switches are used.

When strokes are adjusted to 40 stroke or less,
select the perpendicular entry type or additionally
select auto switches with 2 built-in magnets (-X169).

Piping ‘

A Caution

1. There are 3 supply ports for each operating direction. The plug position

can be changed according to the usage conditions. When changing the
port position, use the removed plug or a new plug. If reusing the
removed plug, apply sealant, etc., before reassembly. (Sealant is not
required if using the piston rod port of the CX2N10, CX2(J15, or CXW10.)
If using a new M5 plug, apply a thin layer of grease all the way around
the male thread before use. In addition, clear any foreign matter adhered
to the port the plug was removed from before piping. After reassembly,
be sure to check for air leakage before operating the product.
Plug part no.: (210 to 20) CXS20-08-28749A
(225 to ©32) CYP025-08B29449A (Rc1/8)
CXS25-08-A3025B (NPT1/8)
CX825-08-A3911A (G1/8)



	Slide Unit: CX2/CXWM/CXWL Series
	Prior to Use
	CX2 Prior to Use
	CX2: Slide Unit/Double Rod Type
	How to Order
	Specifications, Air-hydro/Piston Speed
	Shock Absorber Specifications, Theoretical Output
	Standard Stroke Table, Weight, Operating Direction, Deflection, Accessory
	Construction/Parts List, Seal List
	Dimensions/φ10
	Dimensions/φ15
	Dimensions/φ25
	Operating Range

	CXWM/CXWL Prior to Use
	CXWM: Slide Unit/Built-in Shock Absorber Type
	How to Order
	Specifications, Maximum Load Weight/Non-rotating Accuracy/Maximum Holding Force
	Shock Absorber Specifications, Theoretical Output, Standard Stroke
	Weight, Additional Weight, Operating Direction, Deflection, Accessory
	Construction/φ10, φ16, φ25
	Construction/φ20, φ32
	Dimensions/φ10 Basic Type
	Dimensions/φ10 With End Lock
	Dimensions/φ16 Basic Type
	Dimensions/φ16 With End Lock
	Dimensions/φ20 Basic Type
	Dimensions/φ20 With End Lock
	Dimensions/φ25 Basic Type
	Dimensions/φ25 With End Lock
	Dimensions/φ32 Basic Type
	Dimensions/φ32 With End Lock

	CXWL: Slide Unit: Built-in Shock Absorber Type
	How to Order
	Specifications, Maximum Load Weight/Non-rotating Accuracy/Maximum Holding Force
	Shock Absorber Specifications, Theoretical Output, Standard Stroke
	Weight, Additional Weight, Operating Direction, Deflection, Accessory
	Construction/φ10, φ16, φ25
	Construction/φ20, φ32
	Dimensions/φ10 Basic Type
	Dimensions/φ10 With End Lock
	Dimensions/φ16 Basic Type
	Dimensions/φ16 With End Lock
	Dimensions/φ20 Basic Type
	Dimensions/φ20 With End Lock
	Dimensions/φ25 Basic Type
	Dimensions/φ25 With End Lock
	Dimensions/φ32 Basic Type
	Dimensions/φ32 With End Lock
	Operating Range

	Specific Product Precautions
	Made to Order: Individual Specifications
	CX2・CXW Specific Product Precautions

